Adda2417

PROFESSIONAL EXAMINATION
BOARD
Directorate of Akikrit Bal Vikas
Seva Recruitment Test 2017 (for
Mahila Paryavekshak and
Paryavekshak Mahila Aganwadi
Karyakarta)

25th March 2017 09:30AM

Topic:- Grad_Nutrition and Health

1) To promote acquisition of peak bone mass and density fracture risks due
to osteoporosis at later ages can be reduced with adequate:/Tsleaﬁ 31 i
Hater IR SoaHT™ Td 99 U R+ 3R STREAURIRRT & SR g1 a1 SR &
Wifiad &t g & g o Taie AT SATIRAP ©:

1. Iron and vitamin C/ 3R T4 faerfi= ¢
2. Iron and folic acid/ 3R TG Wifeld 3F

3. Calcium and exercise/ HTe’raH Td AN
4. Sodium and chloride/ TfSTH T4 FARES

Correct Answer :-
« Calcium and exercise/ HTcRTH Td ATITH

2) More than the minerals it is the vitamin especially those of water soluble
B group which show a greater loss during:/ P SRTF @Sl B 3raem
e, fRive? oo ga-=ita ot 9qg & faerm &1 s siftre gt 3:

1. Cooking/ @1l PEAE]

2. Eating/ @™

3. Touching/ ?ﬁf

4. None of these/3TH ¥ &5 gl

Correct Answer :-

« Cooking/ @I Y&
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3) Public distribution system is an Indian : /1 faa=or yomrelt T yRd

&

1. Food management system/ WdI<] Ud=H Tt
2. Food production system/ WTe] 3dTG- HOMeH
3. Food security system/ Qrg] &l YIS

4. Food expenditure system/dl<] g YTt

Correct Answer :-

« Food security system/ dTe] gR&T PUI|

4) Deficiency of Fats in the diet could lead to:/ 38R H a1 &1 HHI I gl
Jdbdl %:

1. Deficiency of Linoleic acid/ femifeI 3t & HH!

2. Deficiency of arachidonic acid JRBSIHD 3 BT HH
3. Both of the above/ RERCSRAR]]

4. None of above/3SUdad & ¥ &5 g

Correct Answer :-

. Both of the above/ SR gl

5) What is defined as the intake of nutrient derived from diet which keeps
nearly all people in good health?/ TTHI I AT BT WA ST CELLY @A ard
IATER A Wl NuS dedl & =aiegur &t ara & ufeuria fear mar g2

1. Caloric dense diet diet/ HAR! TG 3ER

2. Protein rich diet/ UiéH YH& 3TeR

3. Recommended dietary allowances/ Bﬁﬂ%ﬂ BRI &I':[Hﬁl?lﬂ
4. None of the above/ S5 ¥ ®Is gl

Correct Answer :-

 Recommended dietary allowances/ 3=iRId MR AT

6) Which of the following requires intrinsic factor for absorption? / ?{Hﬁ ¥ fra
AR & fore A9 (3ffore) o & smazawdr gidl 32

1. Vitamin C/ faetf#= ¢
2. Vitamin E/ fae E
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3. Vitamin B12/fde1f#[ B12

4. Folic acid /WIfeld 3/

Correct Answer :-

. Vitamin B12/fder#= B12

7) Patients suffering from ulcer should avoid:/ 90T (3[®RX) | ﬁﬁ%’?—[ Afra ot

A g9 91f3u:
1. Smoking/ YU+

2. Alcohol/ Tepigd
3. Coffee/ HIb]

4. All of the above/ wéaa gt

Correct Answer :-

« All of the above/ wéaa gt

8) In addition to megaloblastic anaemia, inadequate folate intake is

associated with?/ Wide &1 Ay A=dgur, AmaisaTeed Tfaar & sifafyad 3=
e Hie ¥ Tw=fa 82

1. Poor preghancy outcomes / TYTGRIT & TR GROMH
2. Good pregnancy outcomes/ THERIT & 3= TRumH

3. Healthy outcomes / Xa=RAHR GRUMH
4. None of the above /sr:lﬁ q aﬂéqé’r

Correct Answer :-
« Poor preghancy outcomes / TYTTRIT & TR GROMH

9) Adolescents gain 30 percent of their adult weight and more than 20
percent of their adult height between:/ fPRIRT B I7P TAHTERIT & HR FT 30
Ufa=rd 3R I TUTHTIRT Bt THTS BT 20 Ufawa F o arfe, P IR U
g 3

1. 10 to 19 years/10 ¥ 19 9§
2.10 to 12 years/ 10 ¥ 12 ¢
3.9to 12 years/ 9 J 1299

4,10 to 15 years/10 ¥ 153§

Correct Answer :-
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. 10 to 19 years/10 ¥ 19 T§

10) A BMI of < 18.5 (kg / m2) for women indicates:/ Afgansi & #THA # 18.5
(frur/M12) & +9 & di.ew.9mE. o1 4 &

1. Over nutrition/ A T 3 Ty
2. Under nutrition/ ITH=I ¥ & UIy0T
3. Balance nutrition / ?Ir_g[ﬁﬁtﬁﬁm

4. All of the above/3dad It

Correct Answer :-
« Under nutrition/ 9TH=I I HH GIyo]

11) The major nutritional deficiency leading to goitre and cretinism is:/ T

3R HEFAT (FSAHAAT) T BRI T4 aTell THE NS ded AT 8:
1. Iron deficiency/ 3R Bt HH

2. Fluoride deficiency/ TARIZS &I HHI

3. Iodine deficiency/ IS &I HH

4. Sodium deficiency/?ﬁ'%ﬂﬂ Pl HH

Correct Answer :-

. Iodine deficiency/ 3TaIS &I HH!

12) Chronic Infection of Hepatitis C leads to:/ gucrsfed 1 &1 Stdrfere JhHur
BT BRI I74T &:

1. Chronic liver infection/ GraIcd dhd AHHUT
2. Leukemia/ &g IfEAT
3. Inflammation on pancreas/ SRE MY

4. Heart disease/ &&d I

Correct Answer :-

« Chronic liver infection/ GE®IA® Ihd HHHUI

13) Hepatitis B vaccine was included in universal immunization program

from year: /a4 ¥ Ardfae ufareievu srdepd & guersfed ot aRi= & wnfia
o forar mar
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1. 2002-2003
2. 2000-2001
3.2011-2013

4, 2014-2015

Correct Answer :-

« 2002-2003

14) Some carotenoids like lycopene is a scavenger of singlet - oxygen,

offering powerful:/ $9 aﬂﬁT-ﬁ%Ts', S FITCIﬁﬁTﬂT-r, THd-ATRIoT ¥ HYP Bld % 3R
BUESRIL) e P B

1. Antioxidant activity/ Udlsiieilse Tfafafe
2. Harmful activity/ gTM®&R® Tfafafe

3. Oxidant activity/ Sffqdfise nfafafy

4. All of the above /3udad T+t

Correct Answer :-

« Antioxidant activity/ Gel3fiRitee Tfafafe

15) Main cause of blindness as per National program for control of blindness

is:/ TPIT SUaT Fra-a0r STIPH & FTAR =RUAT HT FT PR 3:
1. Cataract/ Hifcrarfea

2. Beri beri/ Sdi-a3

3. Vitamin B12 deficiency/ faeifoe &t 12 &1 &4l

4. None of the above /ijaﬂ Y P gl

Correct Answer :-

. Cataract/ Mifaarfec

16) The main objective of National tuberculosis program is:/ QT@'!I

RPN SrAFH T T 424 &

1. To establish surveillance system/ TR d- RTfUd ST

2. To ensure proper TB diagnosis and case management / ¢lsll @1 3fad e (uga) wd
&Y Ya=MH GHATHd BT

3. To reduce acceleration of reduction of TB transmission/ Ttel TR0 &1 Tfd-gfg &I
OGN
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4. All of the above /39dad Tt

Correct Answer :-

« All of the above /3udad ¥t

17) Which of the following will cure the megaloblastic anemia of vitamin

B12 deficiency:/ 398 ¥ &I faeriq 112 & ! A IUF AMaIsaRes T &
WW&HT%

1. Folic acid/ WIferd 31
2. Vitamin B6/ facIitd B6
3. Iron/ 3RRA

4. Thiamin/JrafaH

Correct Answer :-

« Folic acid/ Wifeles 3

18) Oils are rich source of?/ 99 fFra®HT T4z Hid 82

1. PUFA/ URIUHT

2. Saturated fat/ Iq a1

3. Non-essential fatty acids/ 3ATdRgH (Hﬁ-sﬁﬁma) a1 A&
4. None of these/3TH ¥ &5 gl

Correct Answer :-

. PUFA/ UIgu®T

19) Which of these following disease spread through respiratory route:/ 374
| BIF-1T I 49 90 & gy A S 82

1. Influenza/ SUIESI

2. Measeals/ Qa1

3. Mumps,/ HOTHERIY/TARGSAT (FIET)
4. All of the above/3dad Tt

Correct Answer :-

« All of the above/@éfﬁ gt


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

20) All of the following can increase the dietary vitamin D requirement

except:/ 379 9 fHA S5 &= 3=y Y smeriy faerfie & sraxusar &) 91 994 ©:
1. Lipid rich diet/ fdilU€ 99 3BR

2. Religious practices of wearing burkha/ @Eb'f g &1 Ui uat

3. Use of sunscreen/ T-%hIH &I JUTNT

4. Occupation /ddr™g

Correct Answer :-

. Lipid rich diet/ fafUs 99 3ER

21) Pregnant women must avoid:/ THadl afgarei & @ g9+ 9fe:
1. Alcohol /Qc_tﬁTs’ﬂ

2. Caffeine/ S

3. Artificial colours/ S| T

4. All of the above/G”q?jTﬂ ekt

Correct Answer :-

« All of the above/quTﬂ ekt

22) Which of the following is not a contagious disease?/ 78 ¥ ®I9 TP HHTHE

AT T 72
1. Hysteria/ fexcifean

2. Measles/ @4x]

3. Influenza/ SIS
4. Typhoid/ T®IsS

Correct Answer :-

« Hysteria/ EQII?EII

23) Calcium, phosphate and magnesium are important minerals found

within:/ $fmay, wivbe td ARy F 3reR YT 9 aTd Agaqul @feret 3
1. Skin/ ddTl
2. Bones/%%fﬁ

3. Nails/ gl
4. Hair/ STat
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Correct Answer :-

« Bones/ 6’%@[

24) During pregnancy as a result of accelerated tissue synthesis, increased
active tissue mass, and increased cardiovascular and respiratory work there

is an increase in:/ THIGRIT & SR, Had ARAYU B Y 9¢1, Gfeha SHde gaawTT A
§f& 81, SR geuaieety Td 49 1d # & 81 & srRu 7 gfe gt @

1. Basal metabolism/ 3TUTR® Tarqay

2. Height/ daTs

3. Specific dynamic action/ fafemy nfae foean
4. None of these/3TH ¥ ®Is ol

Correct Answer :-

. Basal metabolism/ 3MeTRe TAgag

25) SAM stands for:/ TIUTH &1 GIT -TH &

1. Severe atopic malnutrition/ TfaaR TelfU® AAYCIRA (TR Teifts FHure)

2. Severe acute malnutrition/ THfaaR Tae ATGICIRA (TR dleur gyiyor)

3. Severe albumin manifestation/ WE@&H AR (ﬂnﬂ?&—gﬁ:{ UdhcH)
4. None of the above / 38 d ®Is gl

Correct Answer :-

. Severe acute malnutrition/ HfdTR Tege AragdizE (TR fteor Harem)

26) Malaria is a disease which affect:/ AT ArHS AT - &) YHTfad Bt %:
1. Heart/ gcd

2. Kidneys/ 3a®! (T[al)

3. Spleen/ wilgl

4. Lungs/ m

Correct Answer :-

« Spleen/ witgl

27) What are the symptoms of whooping cough:/ ®Tell Wit & T&0T 1 82
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1. Increased appetite/ Y@ de-l

2. Constipation/ &5

3. Coughing, sneezing and runny nose/ @fﬁ, BF 3R vt T
4. Weight gain/ dvd de-Tl

Correct Answer :-

« Coughing, sneezing and runny nose/ Eﬁ?ﬁ, Bld 3R dgdl TP

28) Population most at-risk for iron deficiency are:/ 3R AT & A UH
wifaw ® Hig W= 9YE §:

1. Infants and children/ =Taeiid R Ud s=

2. Women of childbearing age/ THad 8 I areht 3 CAREIRNIY
3. Pregnant women/ TTHad! Afgang

4. All of the above / Iudad it

Correct Answer :-

« All of the above / Iudad It

29) Energy requirements during pregnancy increase as additional energy is
required for:/ THTGRIT § Felf B ATaRgHdl 9¢ Tl § FifH & fog srfafyaa
Sl aTfey gl &:

1. Growth of foetus and placenta/M{®i g ik MA@ *t IfS
2. Growth of maternal tissues/ HIJ SHdD| P ?{@

3. Both of the above/ RERCSRAR]]

4. None of these/ $T8 ¥ ®Is gl

Correct Answer :-

« Both of the above/ SWRiad GIHI

30) Goitre is associated with:/ 991 (WgeR) A g4 8:
1. Thyroid gland/ 3¢ (YRRISS) IR

2. Thymus/ 4IIHY TR

3. Pituitary/ UHgy Uiy

4. Parathyroid/TRTae (WRIUMRIES) U
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Correct Answer :-

« Thyroid gland/ 3{dg (YRRIgS) Uy

31) Poor diet and unhygienic environmental sanitation are major cause of:/

WRIT 3MMER R ARAeR AN W@wdT & 7@ SR &
1. Diabetes/ ngﬁa

2. Dyslipedemia/ feafeiusiiam

3. Malaria/ Haifar

4. Obesity/IﬁE'ITIT

Correct Answer :-

« Malaria/ HARAT

32) Which vaccine is recommended as per National Immunization Schedule

to Pregnant Mother:/ ITP1T EHTHRUT STIHH F AR THad 7mar & fig Sa-a1
&t (IR orgeifia

1. BCG/ SIfiSil

2. Rota Virus vaccine/ 1T GRRY oA

3. Tetanus toxoid/<c-4 Tladig

4. Measles vaccine/Hoied (W D) IR

Correct Answer :-
. Tetanus toxoid/ccd ciadls

33) A wholesome nutritious diet complete in all the Macro and Micro
nutrients and the food groups is known as:/ Uf¥® 7 Uiv® 3MeR &t 9 98¢ w4
geH UIv® Il Td | Iqg! Bt 2y § dquf gt g, Heardr gl

1. Balanced diet/ 9=feid 38R
2. Unbalanced diet/ 3&=feid 38R

3. Incomplete diet/ &FCI;UT 3IER
4. All of the above/ I0dad it

Correct Answer :-

. Balanced diet/ I=feid 3ER
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34) Which of the following is not a mosquito borne disease?/ 374 P9 TH

WeoR drfed I TEI 82

1. Filariasis/ BTSRRI

2. Dengue fever/ ?ﬂv_or\f

3. Sleeping sickness/ Hig @ dHRY
4. Malaria/TaRar

Correct Answer :-

« Sleeping sickness/ Hig &I SR

35) Which of the following is caused by bacterial infection?/ 3TH 9 P17

Sftaroy FshHor A grar 82
1. Tetanus/ ¢cT9

2. Rabies/ Y&l

3. Malaria/ HaRT

4. Cancer/ & M (HI)

Correct Answer :-

o Tetanus/ ceTg

36) Dietary factors which decreases iron absorption:/ 9 3T8RId HR® Sl ATARA
SGRITYUT ¥eT 34 3

1. Increased intestinal mobility/ 3Tt &t faeiedr sifde Eﬁ‘ﬂ
2. Presence of phytate and oxalates/ BRIdE 3R 3favide o1 IufRufa

3. Hypochlorhydria/ Wﬁm
4. All of the above/ Gcrﬁaa gt

Correct Answer :-

« All of the above/ 3uad Tt

37) The five food group system can be used by health professionals for:/

WA IR gIRT U YIeH TYg WoImel! ST SuaHT fomam 51 gl @:

1. Tool for nutritional assessment and screening/ TINUI TrE=ft 3THad T S (FpIAT) &
qTeE & =0 §

2. Tool for nutritional counseling/ 0T Gre=ft ARl & 1Y & =0 §
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3. Explaining therapeutic diets to a patient/ I DT ITARTHS 3R THIAH & forg
4. All of the above/3udad It

Correct Answer :-

« All of the above/G’qu?H gt

38) The minimum suggested dose of iodine supplementation is per
day to prevent the occurrence of iodine deficiency disorder:/ RIS <LAdl

PR Ft vy & g S Iyl @t graw genfaa aen wfafe &:
1. 100-150 micrograms /100-150 ATSHIUTH
2. 190-210 micrograms/190-210 rnsﬁum
3. 350-375 micrograms/350-375 BIEEAD IR
4. 400-435 micrograms/ 400-435 Il'l%ﬁ";lﬂ:[

Correct Answer :-

« 100-150 micrograms /100-150 TS IUTH

39) Bi annual de-worming scheme which is component of weekly iron and
folic acid supplementation scheme provide following dose of albendazole:/

farfife wiu-gfea oo, oY Ararfes MR vd wifas e Tyl g 3T 9@ g,
TWSHIa @l |7 Y Bd! &

1. 400 mg/400 i
2. 800 mg/800 f&rn
3. 100 mg/100 &Ry

4. 750 mg/750 T

Correct Answer :-
« 400 mg/400 T

40) Which of the following nutrients provide more energy:/ 374 o PI-IT NUD
I Siftre et werd o 82

1. Proteins/ WA
2. Carbohydrates/ ®TRERIGE

3. Fats/ dd1
4, Minerals/@ﬁ\_rr

Correct Answer :-
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41) Minimum age required to give immunization of MMR is:/ THTHSR &I
wferefiwur 39 & foe simaxas g=aw 3y ©:

1. 12 month-18 month/ 12 HIg - 18 HIg
2. Immediately after birth/ 57 & dXd dlq
3. 3 month-5 month/3 Hlg - 5 Hlg

4. 6 weeks to 8 weeks/6 IwTg ¥ 8 UG

Correct Answer :-
e« 12 month-18 month/ 12 HIg - 18 HIg

42) Excess simple carbohydrates in the diet could lead:/ 38R # AfUF Id

Hraigrage g 4 ERETIRS
1. Obesity/ Aemd
2. Anemia/ YadTeqdr (THITHAN)

3. Water imbalance/ ¢ 3]

4. Electrolyte imbalance/ sadg?lmlic RSBV

Correct Answer :-

« Obesity/ Hierdl

43) Megaloblastic anaemia is due to deficiency of:/ AITAIATRE® THHHAT
Pt HH & BRI BT &

1. Folic acid/ ®Ifdidh 3

2. Nicotinic acid/ Fifef e s
3. Pantothenic acid/ Yeldf & s
4. All of the above/G’quﬁ ekt

Correct Answer :-

« Folic acid/ ®Ifai® 3

44) RDA for calcium as per ICMR 2010 for a pregnant women is:/ an‘é‘&hqwam
2010 F AR Mfadt afgersi & fog Ffrmy ot sRdiw &:

1. 1200 mg per day/ 1200 f&rr gfafeq
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2. 1600 mg per day/1600 i ufafes
3. 1400 mg per day/1400 T ufafea
4. 1800 mg per day/1800 T ufafes

Correct Answer :-

« 1200 mg per day/ 1200 i ufafes

45) Treatment protocol for protein malnutrition begin with:/ W& $UT $Ht
SUER Uidieia q AR gl &

1. Immunization to enhance ability to fight infection/ %I ¥ e+ &1 &HdT H gfg &
forg ufereftenor

2. Weight bearing exercise/ HR-dg- A1AH

3. Replenishment of fluids followed by gradual increase in high quality protein and

calories/ IRd Yardf 1 G:gfd, dayTd I oA aTad Ui 3R Hast & U 3G
4. None of the above/39dad # ¥ HIs Tg!

Correct Answer :-

« Replenishment of fluids followed by gradual increase in high quality protein and

calories/ ARa &Ml &1 Y:qfd, T I=a uradl drel UIH IR Hadt # HA: gis

46) World health organisation TB statis;ics for India for 2015 is:/ fay @@=y
W6 &1 URA & forg af 2015 &1 AH o1 sifwpeT 3:

1. 2.2 million cases of TB/ &l & 22 ARG HTHA
2. 2.8 million cases of TB/W% 28 TRg ATHA
3. 3.1 million cases of TB/ ¢ldt & 31 G AHA

4. 1.1 million cases of TB/ &l & 11 ARG ATHA

Correct Answer :-
e 2.2 million cases of TB/ A&l & 22 dRg ATHA

47) Take home ration scheme for pregnant and lactating mother under ICDS

food supplement scheme provides:/ TFHISITH [T JYUT T & 3ard THadt
3R U HT I Afgensit F fore I W & Sy e WS $al 8

1. 600 kcal /600 fhaibaRt
2. 350 kcal/350 fhaidan
3. 900 kcal/900 fhadibart
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4. 750 kcal/750 fraiepaRt

Correct Answer :-

. 600 kcal /600 fHaihart

48) Accumulation of water in the interstitial space is known as:/ SARTHIRN

WATAAP I I_____ ded e
1. Oedema/ TSHI
2. Dermatitis/ ETNY (SHeT3feT)

3. Inflammation/ myY (W@Tﬂ:{)
4. Ulcers / dUT (&)

Correct Answer :-

. Oedema/ TSHI

49) Meningitis is caused by:/ ATH®RNY/AFTSHTaRURNY (AfwTses) &
PIRT BT 8:

1. Salmonella/STed e

2. Fungi/ de

3. Virus menin/ A faurg

4. Meningocccus/ BFSiaIad

Correct Answer :-

« Meningocccus/ S B CAGS

50) It is also known as the "Sunshine Vitamin":/ §4 "YU & fira= aren faer@m

1t wed ¢

1. Vitamin A/ faeTi#eT A
2. Vitamin D/ fdeTf® D
3. Vitamin K/ faerfim K
4. Vitamin E/ faeifiq E

Correct Answer :-

. Vitamin D/ fde1ffa D
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51) Complication of obesity include all the following except:/ HieTd &t
wifeaarsit # 379 & frd i ov o=y It wfaa §:

1. Coronary artery disease/ gad T b AT

2. Arthritis/ 3rRTefed (nfdam)

3. Obstructive sleep apnea/ ﬁ@?ﬁ‘q’ g ToR (SraRieh FET yRRiY)
4. Type 1 Diabetes/ TI3U 1 AYHE

Correct Answer :-

. Type 1 Diabetes/ TI3U 1 AYHE

52) Which of the following biochemical measures of nutritional status is
most likely to detect a state of over nutrition?/ iyor fRufa #1 ET-I'ﬁ T fpg
SRS AT & §RT AT A 3(fUE Nr St /a1 BT a1 T 14 St JRITIAT
Taffes 82

1. Serum albumin/ WQ@'&H

2. Nitrogen balance/ -TSgIoM J]aH
3. Serum LDL/ ¥RH TasSiTd

4. None of above/ B“CI@ER-[ =i ﬁ'sc =rzﬁ

Correct Answer :-

« Serum LDL/ ¥R¥ Tdsiud

53) Low birth weight is associated not only with higher infant mortality but

also:/ THF AT FH UR APqa A Aqud g X A gfew o ft y@afRE &
1. Long-term health consequences/ HECAINCY WQ”&TF\"UW

2. Reduced immunity/ UfaRem Tfad & geq

3. Nutrient deficiency/ UIN® i &I HH

4. All of the above/ Iudad I+

Correct Answer :-

« All of the above/ Iuad Tt

54) Moon face is a symptom of:/ d< Hd BT AT B:

1. VAD/ diusl
2. Kwashiorkor/ HTIRDBR
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3. Marasmus/ RRAY
4. PEM/ TisuH

Correct Answer :-

« Kwashiorkor/ HRRBR

55) A healthy child doubles his birth weight by the age of:/ WX §& &T WK,
Pt AT TP ISP OH S TUT F YR BT ST 81 AT 8

1. 6 months/ 6 HIg
2. 12 months/ 12 HIg
3. 18 months /18 HIg

4. 24 months / 24 Hlg

Correct Answer :-
« 6 months/ 6 Hie

Topic:- Grad_General Knowledge and Logical Ability

1) Under which of the following schemes was the pilot-project “Poorna
Shakti Kendra” launched? / 5 & & :99 TISAT & aid “quT 1=k F” qATHE qTIAS TIolFe
e R T o

1. Rashtriya Bal Swasthya Karyakram / T8t 11 TaTe2T 1060

2. Integrated Child Development Services / Fafead aTer farshTe Tt
3. Integrated Child Protection Scheme / THRa aTer HL&T0T FrSTHT

4. National Mission for Empowerment of Women / TrgiT g qerfxraw<or fee

Correct Answer :-
« National Mission for Empowerment of Women / 81T RigaT qerfxram<or fHere
2) What is the full-form of TRIFED? / ZTs%e (&1.3MT.3E.U%.S.21.) &1 qUI-&T FIT 872

1. Tribal Cumulative Marketing Development Federation of India Limited / grzsa«
TN AR SAATHE e ver A sfear forfies

2. Tribal Corporation for Marketing and Development Federation / 2Tzl FTTILL FiT
ATH (T UE STATHS Feg L9

3. Tribal Cooperative Marketing Development Federation of India Limited / gTsa<
FISAALET HTHT STATHE He L9 A AT forfiee
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4. Tribal Collective Marketing Development Federation of India Limited / Zrzae Fetfaea
ATHET STATHE FSL A a7 fofes
Correct Answer :-

« Tribal Cooperative Marketing Development Federation of India Limited / gz«
FIATTLET AR STATHE HES LI F 4T forfies

3) Consider the following types of compounds present in the living systems:/ Sl o7 # SufRyd
ra giffrel R foar Fifr-

(i) Hormones/ Bﬁﬁ
(ii)) Enzymes/ fa@
(iii) Lipids/ fofus

Out of the above three, the classes of compounds that per-form key functional roles in living

systems are:/ SWRIT diFl # & DI Sifdd 7 A FTHSD SHTS P FUH P14 PId ¢
1.1andiii

2.1, ii and iii

3.1andii

4. ii and iii

Correct Answer :-

e i, ii and iii

4) Selling price of 9 objects is equal to the cost price of 12 objects. Find the
profit or loss percentage. / 9 9% 1 fahd Ted 12 TG & Y- oI b SIS 8| a1H a1
I BT % FTd DI |

1 1
1. 333 % profit/ 333 % dIH

1 1
2. 353 % loss/ 353 % Ell?-l

3. 32% profit/32 % <Y

4. 29% loss/29 % BIH

Correct Answer :-

1 1
o 332 % profit/ 333 % dIH

5) GSM system is? /SiTdEd fied &2
1. Global Synchronisation Module/ Tdidd Risp-TSaRA Hiegd


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

2. General System Mobile/ S Rd Red AEEd
3. Global System for Mobile communication / Wied RIEeH ®BR AlESd HRAHRA
4. None of these/ 3?3[ q aﬂé :|B°[

Correct Answer :-

« Global System for Mobile communication / didd Ried BIR AIERd HRIAGHA

6) To move the cursor from one page to another page:/ & Ul & g4 U ¥
P T & o

1. Ctrl+PgUp

2. Ctrl+PgDn
3. Both of the above / SWRad Gl

4. None of these/ 370 J &I Tal

Correct Answer :-

« Both of the above / JURIad GHI

7) When was the Declaration on Survival, Protection and Development of
Children adopted by the United Nations? / S3<r TIg gTT a7g1 & Sa T&T, €& 3T
IEEIR R I MR E NI R DI DI

1. 1989
2. 1990
3.1991

4, 1992

Correct Answer :-

« 1990

8) If the numerator of a fraction is increased by 200% and the denominator
5

is increased by 350%, the resultant fraction is 12, What was the original

fraction?/ afe Ts e & 3T & 200% 3R &% A 350% o gfe Y wirg ot afvorre firey 12
SR GIRE K K E

5
9

5
2. 8
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4. 12

Correct Answer :-

5
[ ] 8

GET IT ON
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9) Which answer figure will complete the pattern of the question figure? /4

H q oI A IR pfa vy 3npfa &) qof H¥?
Question figure/ WY 3THfd

?

Answer figure/ 3t} mﬁr

N

AN

\/d

A

(@)
l.a
2.b
3.cC

4.d

(b)

©

Correct Answer :-

b

(d)

10) In which year was the National Commission for Women Act passed? /

Trgt wigen s srfafaaw e ad § arfa fear mam?

1. 1990
2.1991
3.1992
4. 1993

Correct Answer :-
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11) The database language that allows you to access or maintain data in a

database / SeTa YTHT WY 3TUH! STTaT H STeT dF UgdA 3R SH FHC 3T &l
Jrgafd e et §

1. DCL
2. DDL

3. DML

4. None of these/ s':l'ff g aﬁé B

Correct Answer :-

« DML

12) Pepsin is an example of-/AfR0 fHHT IERT 8-
1. Enzyme/ Q\_Bﬂsq Gal

2. Vitamin/ faeTii=a &1

3. Hormone/ E’Iﬁf:\q Gal

4. Lipid/ fofug &1

Correct Answer :-

« Enzyme/ USITSH &1

13) The difference between compound and simple interest on a certain sum
for 2 years at 4% per annum is Rs.56. Find the sum. VAL &l !IQIWW@W
TAT ATYROT TS BT 3R 2 T F 4% Ufaad o1 @3 A .56 8| AU Td B

1. Rs.26000/%. 26000
2. Rs.35000/%=. 35000
3. Rs.12000/%=. 12000

4. Rs.19000/3. 19000

Correct Answer :-

« Rs.35000/%. 35000

14) Along with which of the following schemes was the Swachhta Guidelines
for Public Health Facilities also launched? / 5 & & :199 TISAT F 9T IS4 H
TqTey glaarsl & e Tawgar feemfaasr Wi S T 3w or?
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1. Kayakalp/ #ramseq
2. Swachh Swasth Sarvatra / =g @& 945
3. Swachh Bacche Swasth Bharat / &= ag Tae 9%d

4. Swachh Bharat Abhiyaan / =g w<a 9=

Correct Answer :-
« Kayakalp/ #1amseq

15) If '.net' is called '.com’, '.com’ is called '.org' and '.org' is called ".in’, then
what is the name of the website of 'flipkart'?/ Tf¢ '.net’ & ".com' TSI T,
'.com' &I '.org’ $el STl g 3R ‘.org' 31 ".in' W\‘rl‘l?ﬂ%, Gl 'flipkart’ Hﬁail'ﬂﬁ‘daﬂ
AT 1 gI?

1. flipkart.com
2. flipkart.net
3. flipkart.in

4, flipkart.org

Correct Answer :-

« flipkart.org

16) How much amount does the beneficiaries of the Rashtriya Swasthya
Beema Yojana need to pay as registration fee for a year? / 514 &Ry diH1

AT & ATyl @ v af # uoftae Yo & fore fpasit 11 31 usar 82
1. Rs. 20 / 20 =7
2.Rs. 30 /30 =7
3.Rs. 40 / 40 =7
4.Rs. 50 / 50 =Tr

Correct Answer :-

« Rs. 30/30 =%

17) To copy cell contents using drag and drop, press the:/ 3‘“ 3R STCrﬁ'a"RT
9 Hee i yfafery g9+ & fog, gamd:

1. End key/ End $oil
2. Shift key/ Shift it

3. Esc key/ Esc $oll
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4. None of these/ E:FEI | Tﬁé :@'

Correct Answer :-

« None of these/ 3:|'~ef I ﬁ'sc:ﬁbf

18) The cause of Exophthalmic goitre is-/qa@v?riﬁw Tﬁ'ﬁ'ﬁ? DI PIRUT %—
1. Hyperthyroidism/ ’vﬂﬁ'@gm 3ffaqu

2. Hypothyroidism/ UTERITS P eUIATAU]

3. Hyperparathyoidism/ ﬁﬂuﬁﬁn@: BT Hfaedau

4. Hypoparathyroidism/aﬂﬂ'lé_\’:lyﬂgﬁ S UIATIUT

Correct Answer :-

« Hyperthyroidism/ UTSRITS T ATl

19) According to the Commission of Sati (Prevention) Act, 1987, which of the
following women can be called ‘Sati’? &t afafa (Trramw) srfafam, 1987 & siavig A
H o A9 AgATSA 1 G T A | T@T ST Toha T 52

1. A woman being burnt alive along with the body of her relative voluntarily / Ts wfgar
TSIl ST e q¥aeell % g % AT 37 TAog s ST [4I7 ST &1 &

2. A widow being burnt alive along with the body of her deceased husband forcibly /
T HigdT (ST 99 JaF I & &g & a1 STaLaed| STl a7 ST W@l g

3. Both of the above / 3Tk T=1
4. None of these / =78 & IS Tl

Correct Answer :-

« Both of the above / 3T T

20) DIRECTIONS: Which of the answer figures is exactly the mirror image of
the question figure if a mirror is placed on the line MN?/fd%r: fFrg & @ #19 @
IR SMpfa, & Y uy enpfa &) W&l guur ufafas gift 19 gdur t ¥@1 MN R v@1 91a?

Question Figure /W95 HIBf
M
M
Answer Figures | mm

REIRIRE

(1) (2) (3) {4)
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1.1
2.2
3.3

4.4

Correct Answer :-
e 4

21) In which financial year was the Swarnajayanti Gram Swarozgar Yojana
renamed as the National Rural Livelihoods Mission? / #9a fa<fiw au & Tavierady
TTH TGS TISTAT HT TETT ATHOT SATSTTRT 799 F T § AL /A1 1371?

1. 2008-09
2. 2009-10
3.2010-11

4,2011-12

Correct Answer :-

« 2010-11

22) Paneth cells are found in-/'aﬁ"ll a»‘r&mﬁ T} STt %—
1. Peyer’s patches/aqﬁ EK]

2. Crypts of Lieberkuhn/?ﬁa@ 31 fobp

3. Islets of Langerhans/ﬁ"l?%ﬂ & ?f"tﬁ |

4. Brunner’s glands/§[X o1 Ui |

Correct Answer :-

e Crypts of Lieberkuhn/?ﬁw P fpp o

23) After a girl attains the age of 18 years, what percentage of balance can
be withdrawn from her Sukanya Samriddhi Account? / T aT{rT T 18 a9 i 37
B o TETd, S9h AT GHfg @rar & fohaar Siaera ST ST 1 9haT g2

1. 25
2. 30
3.40

4. 50
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Correct Answer :-

24) Raghav starts from a point A and walks 6 km towards North, then turns
left and walks 8 km. Then he turns left and walks 12 km up to the point D.
Now, how far is he from his starting point?/ W,ﬁgA | IO SRTH T § 3R
I fe=m & ¢ forrt aaar 8, 9% a1¢ 918 god1 @ ok 8 fHl gaar 81 ag e s gsar @
3R 12 forft weran § ik g D 9 ugaan 81 39 a8 ovA URMA® fag & feai gr 82

1. 8 km/8 Tl
2. 10 km/10 foeit
3.6 km/6 Tl
4.2 km/2 T

Correct Answer :-

« 10 km/10 f&H

25) Cholesterol is a type of:/ HIACid TP YHR BI:

(i) Chlorophyll/ FARIS &

(ii) derivative of chloroform / SARIBTH HT T &

(iii) Is a fatty alcohol found in animal fats / U® a3 31 & it Siwg 99T & UTAT STelT &
(iv) Causes high blood pressure /3™ Y& GId BT HIRUT g
The correct answers are/ Hgl 3T g

1.1andii

2.1, iii and iv

3. 1ii and iv

4.1iandiv

Correct Answer :-

e iiiandiv

26) DIRECTIONS: Choose the missing terms out of the given alternatives./

frdar: fou e fawedl #f | g vl & J1d B |
_aa _ba_bb_ab_aab

1. aaabb
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2. babab
3. bbaab
4. bbbaa

Correct Answer :-

« bbaab

27) Which of the following options is correct about the Sexual Harassment of
Women at Workplace (Prevention, Prohibition and Redressal) Act, 2013? %
H o HIFET HGATSN FT HTAEAT UL A1 Icdie (Fareor, siave siw ghaq) sitafaaw, 2013
Traeft fasew gt 87

1. The total number of members of the Internal Complaints Committee is at least 5/

AT fAREd AT & Fd aeeg e FH A FA 5§

2. The total number of members of the Local Complaints Committee is 6 / T+
o afa F Fa AT §=a16 3

3. ‘Workplace’ would not include sports-complex / FEFIT § TdEa S5 ATHT Tal &
4. All of these / 3921 a+T

Correct Answer :-

« The total nhumber of members of the Internal Complaints Committee is at least 5 /

At frwmg afafd F T aeT Ge T FH A FH 5§

28) If I walk at 3 km/h, I miss a train by 2 minutes. If however, I walk at 4
km/h, then I reach the station 2 minutes before the arrival of the train. How

far do I walk to reach the station?/afe # 3 f&Hl/Ee Ft nifa A Tear § @) ve Yermel
2 fire @ ge wTdl 31 Afea, afe & 4 forft/ae o nfa @ aaar § 9t Yot & RIF UgTA ¥ 2
e g o uga wraT §1 WA UgT & e A fpaeit gt aa wRar g1

3
5km/4ﬁ7ﬁﬁ
4 4
2.5 km/ s fopHt
5 5

3.4 km/ ¢ T
4.1 km/1 foet

Correct Answer :-
2
5

29) Which of the following acts is not included in the definition of domestic
violence under the Prevention of Women from Domestic Violence Act, 2005?
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/ I Bar & wfger @eor sfafaaw, 2005 F siasta e & & saar G oy {ar & =rear § 981
T FHAT 5?2

1. Insulting her for not having a child / g7 AT 1 % FTLT TIHTAT FEAT

2. Harming her relatives to coerce her to pay for dowry / Tg % o0 STa<awdt e 9 3

Redamt 1 g1+ ag=m=T
3. Repeated threats to physical pain / IR T Tg=T FT 1% a1 gHaT A7
4. None of these / Ta® & #IE 7l

Correct Answer :-

« None of these / z7H & IS 7l

30) Which of the following is not true regarding the Sexual Harassment of
Women at Workplace (Prevention, Prohibition and Redressal) Act, 2013? /

AIZATSA T FTAEAA U AR I (Fameor, gfaae siw s sfaf=aw, 2013 ge=i e
FIT fAFeT a8t A5l 87

1. It is not applicable in Jammu and Kashmir / g sfafaae S 3 FeHT § A0 75l &

2. It lay the rules for constituting the Internal Complaints Committee / 7g s forrmaa
afafa &7 o7 F w1 Ao aar g

3. Both of above / 39k g1
4. None of these / 3% & #IE LT

Correct Answer :-

« It is not applicable in Jammu and Kashmir / ag faf{a S+ 37 F99iT § 90 75! ©

31) How can you create a uniform appearance by adding a background image
to all slides?/ Tt WIssH T IPUES TS WISHR, MU JIPHT TH JATH =Y
4 T FPa ¢

1. Create a template / T&% ¢Hce §91¢

2. Use the autocorrect wizard / 3fcidrae faelTs &1 JUTNT &
3. Edit the slide master / W38 AR HI YUTfad B

4. All of the above / SWRIa i

Correct Answer :-

. Edit the slide master / T3S AR B! JUIfed B3

32) Which of the following option is true about the Prevention of Women
from Domestic Violence Act, 2005? / =T Z4T & wigar €& sitaraaw, 2005 qeaweft
e & F wrar T |8t 82
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1. Both mental and physical harm is included in this Act / =& sifarf=aw & amfas va
AT ST T AT §

2. It extends to whole of India except Jammu & Kashmir / 7 srfarfaae S 3w wewie
BIEH T T § a1

3. Both of the above / 3Ua=F a1
4. None of these / T#% § &I 7l

Correct Answer :-

« Both of the above / 39 24T

33) You want to ping the loopback address of your local host(with IPv6).
What will you type? / 30 3(UH @&d s8Ik (IPv6 & TTY) HT qUaD UaT {1 S
TEd € 3T T <TSY HA?

1. ping 127.0.0.1
2.ping ::1

3. ping 0.0.0.0

4. trace 0.0.::1
Correct Answer :-
e ping ::1

34) Which of the following diagram represents the relation among Friend,

Guide and Philosopher?/ f=feaf@d & @ H19-91 39 3@ {3, wuyeRie 9T er=it~e
P U Ay S2Tdr 82

kG

&
| OOO

Correct Answer :-

4
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35) Which one of the following options is/are not true? / % ¥ & #iwar faseq g8l
ol 57
1. The Hindu Succession Act, 1956 provides daughters the right to ask for sustenance

from a joint Hindu family/ &% STTterame stfafaaw, 1956 afedt &l Ua S fgrg aa &
el STTereRT =T STTArRTE TivT Jahclt 3

2. The Hindu Succession Amendment Act, 2005 gave daughters the right to
inheritance with her male siblings / &g STCfa=E Femree sTfafaaw, 1956 & gRT AfedT &l
FI ATSAT & AT FArea &7 srtershre e & =

3. The Supreme Court in 2015 ruled that daughters whose fathers died before
September 9, 2005 won't however be applicable for the Amendment / 2015 & 1w
FIE T g Farar &t o afet F foar #1 9o fawaw 9, 2015 % 99 g €, 98 TH Hered g1 Yard
TR T SrferRTe o YT A8l

4. None of these / % & #T$ T2}

Correct Answer :-

« None of these / 7 & T g1

36) The ratio between the boys and girls in a class is 6:5 respectively. If 8
more boys join the class and two girls leave the class then the respective
ratio becomes 11:7. What is the number of boys in the class now?/W$&ﬂﬁ'
ASH! 3R Asiral B TWAT BT HUT: AJUTd 6:5 81 TlS 8 3R TS Ham W wfirar gf qur 3t
aSihat ®eT BiS <, A SIUTd HURT: 11:7 8 SATdT 21 314 H&T A fpaa ds& 82

1.28
2.38
3. 44

4. 36

Correct Answer :-

37) 20 men work 6 hours a day for 7 days to complete a work. How many
hours, should 10 men work to complete the same work in 12 days?/ 20 J¥4

TP B Bi UldfeT 6 6 BT Hds 7 fa o X & &1 10 T $i Sl drd &l 12 fe &
quf #e+ gq Ufdafed fpan v orf sm arfge?

1.4

2.5


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

3.6

4.7

Correct Answer :-
« 7

38) DIRECTIONS: Find out missing number from the figures given below./

foréer: - & wit seforat ® qua Te wrd SR
@ ©) @

1.6

2.8

3.7

4.9

Correct Answer :-
« 9

39) What should be the population of a Rurban cluster in desert, hilly or tribal
areas? / A&, TACT T STASITAT &A1 o TaT FACSL I ATl (hawT gl ATRT?

1. 5000 - 10,000
2. 5000 - 15,000
3.10,000 - 20,000
4. 10,000 - 25,000

Correct Answer :-

« 5000 - 15,000

40) Pointing to a lady in a marriage function, Anita said, ‘She is the sister of
the father of my mother’s son. How is that lady related to Anita? / QT:F‘\’ﬂ'cﬁ
mnﬂ's'g, 31T A Pgl, 98 A3 AT & G & a1 &1 784 81 98 6fger srar I frd yor
T Y 82

1. Sister/ dg-
2. Aunt/ 3fict
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3. Niece/ﬁ-l'cﬂTrﬁ

4. Mother/ Af

Correct Answer :-

« Aunt/ 3ficl

GET IT ON
Google Play

41) The sugar units present in DNA and RNA are:/ DNA Td RNA # S1-=1T RrebT urd} et 8t

(i) Glucose/Tq@
(i) Ribose/ ITSERAH
(iii) Fructose/ P
(iv) Deoxyribose/fS3NfRRTgaa

The correct answers are:/ I SR g

1.1, ii and iv

2.1, 1i, iii and iv

4,11 and 1v

Correct Answer :-

e ilandiv

42) What is the size of MAC address? /8@ U39 &I A3 &:
1. 16-bits/16 facH
2. 32-bits/32 facH
3. 48-bits/48 facHq
4. 64-bits/ 64 facq

Correct Answer :-

. 48-bits/48 facH

43) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question? / =1 fFruafaRaa vy A vyares forg (?) M

TR T S GT HIH SME?

175 x 28 + 275 x 27.98 = ?

1. 11800
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2. 12595
3. 12800
4.11600

Correct Answer :-

« 12595

44) When was the Self-Employment Scheme for Rehabilitation of Manual
Scavengers (SRMS) introduced? / A+ THTASE & TAAIH & {oIT TF-TSRIE AT el F
L& T T2

1. 2007
2. 2008
3. 2009
4. 2010

Correct Answer :-

« 2007

45) How many Tribal Research Institutes have been set up in India? / i@ &

Foraer STASTT T e T |/eATHT 6T €T it T g2
1.12
2.14
3.16

4. 18

Correct Answer :-

46) Which of the following is prohibited under the Right to Education Act?
/ e &1 afteR aifbfem & siavla o & &+ wfaefia 82

1. Physical Punishment / IRIR® <8

2. Screening procedures for children / W%W?W&Iﬂﬁ&mm
3. Both of the above / I9I<h a1

4. None of these / S8 9 &g g

Correct Answer :-
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« Both of the above / 39 T=T
47) Human placenta is-/HT-d wder % -
1. Haemochorial/ 8IHI®IRTAA

2. Syndesmochorial/ IRERECICAIRU ]

3. Yolk sac/ O b

4. Haemoendothelial@ﬁ@@[w

Correct Answer :-

e Haemochorial/ Eﬂm

48) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question? / 391 fFrufaRaa vy A vyaress fog (2) M
R AU DI AT | T2

? = (2.5)2 x 15.003 + 25.78
1. 100
2.120
3.130

4. 145

Correct Answer :-

« 120

49) In a village the average age of n people is 42 years. But after verification
it was found that the age of a person had been considered 20 years less than
the actual age, so the new average age after the correction increased by 1.
The value of n is:/ T& id § n sAafemal 1 3id Mg 42 99 31 AP IuU= & 91 g8 79
g1 fh Uop afaa ot 3T S IRATAD 3R A 20 9 HH ot Tt g, d GUR H & a1 =T
3T 1 ¥ 9 7T n STHA 8:

1. 21
2.20

3.22

4. None of these/szlﬁ@[aﬁ‘scqﬁ

Correct Answer :-

« 20
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50) Which of the following statements is/are true about the Indecent
Representation of Women (Prohibition) Act, 1986? / \{gaT &7 stwx wafaca
(Farer) srferfeam, 1987 avawefy w=aT feeT gt g2

1. It extends to whole of India / o8 =\ X 9%d § @1 &

2. Representation on any ancient monument cannot come under this law / 3T ST+
AT B AT AT e giafAferea =0 sfafaae  siatd a8t o gadt

3. Both of the above / 396 T
4. None of these / =7 & FI< T&l

Correct Answer :-

« Representation on any ancient monument cannot come under this law / & ST==

AT o 7 AT S wiata e = sterfeaw o st a8t o gedr

51) Since which year did the Rajiv Gandhi Panchayat Sashaktikaran Abhiyan
start its implementation in full swing? / =9 ad & TSt Wil g=Taa Fertesr
STIATT 7 (I X A & FATeaqT &7 o Fomar?

1. 2011
2.2012
3.2013

4. 2014

Correct Answer :-

« 2013

52) How many straight lines are there in the figure given below? /== € Wit

3T # fra-t ava Y@ 82

1.12
2.13
3.14

4. 15

Correct Answer :-

« 13
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53) DIRECTIONS: Study the following pie chart carefully to answer the
question given below./ fé3r: fFrafafaa urg ard &1 sagd® srerg= #= g me uy
& I Gyl

Total number of students studying in different institutions A, BC, D, E, F and

G / fAm IR A, B, C, D, E, F 3R G ® Ug I3 Bl ®1 $d |1 = 3800

G, 12% A, 15%

F # 1 3 % :-"'-!.:.1.{:.

E, 14% C, 17%

D, 21%

The ratio between the number of students studying in institute E and that of
studying in institute D is:/ IR E § U¢ I8 B! 3R RIE D § Ug I8 Bl B JE&AT
BT HUI: U 3:

1.2:7

2.2:5

3.2: 3

4.7:9

Correct Answer :-

54) Which of the following are sex linked?/ e & & er=-ar fe srenfya A @2
1. Myopia/ﬁ?b_cr E@ ay

2. Malaria/HQAT

3. Colour blindnessﬁUf@qﬂT

4. Night blindness/ Tt

Correct Answer :-

e Colour blindnessﬁUf@qTﬂ

55) DIRECTIONS: In the question given below, there are few statements
followed by few conclusions. You have to take the given statements to be
true even if they seem to be at variance with commonly known facts and
then decide which of the given conclusion logically follow(s) from the given

statements. /31 1 faU 70 Uz A O FYA 3R TP 18 $o fewd faw e 71 eyt
feu T Syl F GG {1 €, Yd &) 3 GdyTd 9wt I = udia ga 8f | 3 freeut &) ufew
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mgﬁm%mwﬁwﬁﬁﬁﬁﬁmmwﬁmmﬁﬂmaw
7o W &

Statements:/HY:

All birds are peacocks/dl uefl, AR &

All peacocks are farmers/94l 71X, fra &

Conclusions:/ﬁlﬁ?ﬁf:

I. Some farmers are birdslgﬁmﬂ, q&ﬁ%

II. Some peacocks are birds/ﬁ@'tﬁ?, ueft 8

1. If only conclusion I follows /aﬁmﬁrmh WW%

2. If only conclusion II foIIows/qﬁao_c!FrﬁWGf II &@TUTW%

3. If either conclusion I or II follows/af¢ a1 df sy 1 a1 11 WW%
4. If both conclusion I and II follow /?I%ﬁﬁb_ﬁf I 3R II T G@TUTW%

Correct Answer :-

. If both conclusion I and II follow /afe fAtsd 1 3R II ST AR H3d &

Topic:- Grad_Managerial Skill

1) A leader must be an expert in:/ Sg@®ar &t # a9 geT AR Ul
1. Human relations/ A& F¥awet

2. Technical skills/ 1=t Fterer

3. Both of the above/ Su<r<h a1

4. None of these/ 78 & #E 71

Correct Answer :-

« Both of the above/ 3uZ=F I

2) Which type of planning is a blue print of development over a longer period
of time?/ e & %1 s Al g9amaty # g arer fawre &1 5 e grar 82

1. Centralised Planning/ s=ttsha s+

2. Decentralized Planning/ faesisa A=
3. Annual Planning/ aTfi® fAarere

4. Perspective Planning/ ai¥res f=rsrr

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda2417

« Perspective Planning/ afere fMars

3) In selecting local leaders the choice is on the:/ TT1¥ Aqca®atsli & 99 FT i
9T AT war 81

1. Leaders/ Sqcashatsii/aarsit
2. Group/ 992
3. Government/ aGRT

4, Extension workers/ fa=am =i
Correct Answer :-

« Group/ 793

4) Flip book is an example of:/ {7 g% T IS B
1. Flash cards/ wier #ite

2. Slogans/ a4t

3. Chart/ =1

4. Posters/ qi%a¥

Correct Answer :-

« Flash cards/ 91 #TE

5) India’s 14 major banks were nationalized during:/ < % 14 Y@ d&1 &1
& IO TEIAHTIT g3 AT

1. Second Five Year Plan/ Ta<T 9=@dia TrstT
2. Fourth Five Year Plan/ =it d=adig FrHT
3. Sixth Five Year Plan/ E3t d=atdia Frsmr

4. Eighth Five Year Plan st g=adia JisHT

Correct Answer :-

« Fourth Five Year Plan/ =tefy d=afiar TsraT

6) What can be the opposite of aggressive group?/ sT#T¥® 99qg & fAu<Iq F4T &1
qhaT 5?2

1. Passive group/ MTews a3 g
2. Large group/ faeme wig
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3. Voluntary group/ @€ et 998

4. Involuntary group/ s=f=z% aqg
Correct Answer :-

« Passive group/ ftas oz

7) What is observed in a professional leader to see his interest for a group:/

T | AGcahdl hl T 3@ & [T Ageashal d F97T <@T a7 72
1. Field work/ &= =1

2. Training/ wrfereror
3. Both of the above/ I9=F &=l
4. None of these/ 7% o T g1

Correct Answer :-

« Both of the above/ 3u%=F THT

8) Which Five Year Plan is also called Mahalanobis plan?/ & d=atdta et #t
T TIorT oY g 872

1. First Five Year Plan/ 9geil 9=@tia JrsiT

2. Second Five Year Plan/ @< 9=adi Jrsm
3. Third Five Year Plan/ St g=rai=r arstr
4. Fourth Five Year Plan/ =TT d=adig FrsrHT

Correct Answer :-

« Second Five Year Plan/ &I 9=5atig Frsi1

9) Achievement theory is concerned with:/ IStafsa/aiy Rgra T Tl
TEar gl

1. Affiliation/ Hagar

2. Power/ erf<h

3. Achievement/ I9fser
4. All of these/ ST T+t

Correct Answer :-

« All of these/ 3T T+t
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10) Which Five Year Plan was based on Harrold Domer Model?/ :{9-Ht gaatdig
TISAT ZRIT ST TS U< e oft?

1. First Five Year Plan/ ugeft d=raefiar i

2. Third Five Year Plan/ S &t d=adia TreiT

3. Fifth Five Year Plan/ 9=t d=aeig Trse1

4. Seventh Five Year Plan Sraat d=5atid Jrs«T

Correct Answer :-

« First Five Year Plan/ Tgeft 9=adig TreT

11) When the information flows in a form of branches it is known as:/ S
AT aTETet ¥ w9 & wariEd v # a5 __FEd &l

1. Bar chart/ 3= &= (X =T8)

2. Tree chart/ 321 &= (& =TE)

3. Graph chart/ serg | (ITF =T<)

4. Pie chart/ g<@= €= (412 91C)

Correct Answer :-

« Tree chart/ &1 == (& =19)

12) Non projected teaching aid include:/ &S eATIT AZTIHI | ATHA 3
1. Chalk board/ =t ar<

2. Pictures/ ==

3. Flash card/ w11 1

4. All of these/ ST T+t

Correct Answer :-

« All of these/ T T+t

13) In leadership there is a face-to-face contact between?/ aga & F

T AHA-TTH T ¥ grav gl

1. Leaders and followers/ Fqca®dt Ua ATATT

2. Government and leaders/ I¥FTY T Aqcasharai
3. Village people and scientists/ It Ue FfAent
4. Extension workers and scientists/ favam wi¥{= v asri=et
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Correct Answer :-

- Leaders and followers/ Fgcasal Ua SATAT

14) Rural people tend to resist:/ I & &1 fadry 3 &Y wqir gidt 2l
1. Leaders/ Sqcashatsii/aarsit

2. Government/ IR

3. Change/ afiad+

4. Attitude/ Tt

Correct Answer :-

« Change/ afad=

15) The period of plan holiday in India was:/ ST<q & JISTHT stashter Y srafey oft:
1. 1966-1969

2.1996-1999

3.1960-1990

4. None of these/ 3931 # | &I Agl

Correct Answer :-

« 1966-1969

16) When people in a cluster range from 3-50 it is a YA ERELIE
(FAEET) | AWM T H&AT 3-50 ZIAt g AT T8 FgaTdr gl

1. Crowd/ sfi=

2. Group/ 998

3. Mass/ S (ATas{+)
4. None of these/ 3U<I<h # | ®IT dgl

Correct Answer :-

« Group/ 793

17) In which social group the contact is personal?/ &« amrfore aqg # ava#
AT grar g7

1. Secondary/ fgd==
2. Tertiary/ gatas
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3. Primary/ ytafae®
4. All of these/ ST T+t

Correct Answer :-
« Primary/ vrata®

18) Which of the following period is known as plan history?/ 3% & & srafer &r
AT OB gl ST 872

1. 1969-1974
2. 1966-1969
3.1965-1968

4, 1961-1966

Correct Answer :-
e 1966-1969

19) Life cycle theory of leadership was developed by:/ s #1 sfiaw 9% Rrgra
7 iR fraT om

1. House and Mitchel/ gr=« va oo

2. P. Herzby & K Blenhad/ 1. gsi<T e F =eimige
3. Abraham Maslow/ STaITEw® ATHET

4. None of these/ T® & #IE Tl
Correct Answer :-

« P. Herzby & K Blenhad/ dt. g5i€l U4 F sogs

20) Neighborhood comes in which type of social group?/ a-9819 @ 991X &%
HTATIS 998 § oaT 872

1. Primary/ i
2. Secondary/ fadfra=

3. Tertiary/ qata=
4. All of these/ ST T+t

Correct Answer :-

« Primary/ vrata®
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21) Main classification of Group is/are:/ THg F1/% T&I (6T /&
1. Primary/ e
2. Secondary/ fgdfra=

3. Tertiary/ gatas
4. All of these/ Swd T+t

Correct Answer :-

« All of these/ 39 A+t

22) Movie projector is an example of:/ TAT TeFe< T ISTEL &

1. Oral aid/ wiT&+ T+ ITHI

2. Written aid/ forfera agras oo

3. Projected aid/ w&rfoq agras ST

4. Non project aid/ A&ad HgM® ITHTIT
Correct Answer :-

« Projected aid/ J&fua T ITHIOT

23) Abstract pictures should not be used in a poster because it: /9 # 39
IEERRINEFREDICIC R NRuC D

1. Is boring/ ¥ =@ g &
2. Is confusing/ & 9TH® BId &

3. Takes time to make/ I a9T9 | THT &1CT &

4. None of these/ I9%Ih | & TS 51

Correct Answer :-

« Is confusing/ & 9T g4 &

24) “Series” is a component of what?/ “s@a1” FaT "es §?
1. Flow Chart/ waTg |~ (7T =T<)

2. Pie chart/ go@s &= (475 =)

3. Strip tease chart/ SeqFwaTs=a = (e & =1e)

4. None of these/ SUTE § | Fls Aal

Correct Answer :-
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« Flow Chart/ yaTg &= (FT =912)

25) Which social group is according to choice?/ FI9-AT ATHTN GHg T8+ & ATHTT
T &2

1. Primary/ i

2. Out group/ afEHHE (3T3e-0)

3. Voluntary group/ @&t Ti g

4. None of these/ ST § & FI Tal

Correct Answer :-

« Voluntary group/ Taa&=Et g

26) Which Five Year Plan focused on rapid industrialization?/ #A-¥f v=atfta
TrorT 1 e Rrehisor ux fvaa oft?

1. Second Five Year Plan/ Ta< 9=@dia IrsiAT
2. Fourth Five Year Plan/ =reft d=adia TsET
3. Sixth Five Year Plan/ &2t d=adfia i

4. Eighth Five Year Plan/ saet d=atiar Frei

Correct Answer :-

« Second Five Year Plan/ T8I 9=9atig FTsi1

27) Formal social group are based on?/ siq=T® qTHTSE 998 T ST
=4 £l

1. Laws/ &gt

2. Rules/ 7=+

3. Regulations/ fafa==i

4. All of these/ ST T+t

Correct Answer :-

« All of these/ T T+t

28) Name the only women chief election commissioner of India?/ 9<a I

THAT AigeT g fRai= argeh 7 919 aqrd)

1. Rama Devi/ THT =T
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2. Leela Seth/ #fi=r ¥
3. Faatema Bivi/ wrfawr fat

4. Anna Chandy/ oo =iey

Correct Answer :-

« Rama Devi/ T 34T

29) Local leaders play the role of :/ TR qqr/aqeasat AR ED]
fAwma g1

1. Teachers/ farers
2. Guide/ ARSI FTAT

3. Trainers/ wforersh

4. All of these/ ST T+t

Correct Answer :-

« All of these/ 3T T+t

30) Caption and action is required in a:/ # srqefid (Feere) wd T (Tae) i
AAIHAT BT B

1. Poster/ dreex

2. Radio/ ¥f==m

3. Film/ feew

4. Television/ E=tifas

Correct Answer :-

« Poster/ =t

31) The Governor of the state is appointed by the President on the advice

of:/ Tgafa & FATE T TASTATA I A FLd 2
1. Prime Minister/ samaw=t

2. Vice President/ 34rexer

3. Chief Minister/ q&aw=t
4. Chief Justice/ = =amametar

Correct Answer :-

« Prime Minister/ Tam=aw=T
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32) Sense of belonging is a factor of which social group?/ =g &t 9Ta=T e
TATIF G99 T 9F 52

1. Primary/ srarfae

2. Secondary/ fadta=®

3. Law group/ f&fe (F1) &4

4. None of these/ I & & FT 7l
Correct Answer :-

« Primary/ srafae®

33) India’s first five IIT's were started during:/ <a & 9g« 919 lIT’s %
T SR T A

1. First Five Year Plan/ geft d=atir ars«r
2. Third Five Year Plan/ Sr&<Y d=adiar Tit4T

3. Fifth Five Year Plan/ 9i=€t =& TIsi1

4, Seventh Five Year Plan/ @iae 9=t TistAT

Correct Answer :-

« First Five Year Plan/ qget 9=adia Jrea1

Topic:- Grad_RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that
follow./ fadsr: fRwaferfed srerier i eamg@s qga Sa® A+ fod 3 agfaswedt weat # gt fawey
T FIT HL|

Communication plays an important role in the development of a nation. It is
an integral part of development. Societies cannot change and develop
without communication, as it is a process of social interaction through which
people are influenced by ideas, attitudes, knowledge and behavior of each
other. Communication has attained a great importance in the developmental
programs. It is through the process of communication that people are made
aware of the nature and objectives of the programs. The useful
developmental messages are conveyed to the target groups through various
communication approaches. This helps masses in acquiring new knowledge
required for coping with fast changing society. It helps people in adoption of
innovations for the improvement of their practices, methods and quality of
life. Development as an objective is planned transformation of society from
one stage of life and living to well-defined and known goal. It is a process in
which man is the objective as well as the tool of development. All objectives
of transformation are to make man live as a human being, with better
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clothing, food, shelter, health and education. This cannot be achieved
without man's involvement./

HOR Y & faowra & agayet yfiet fFurar 71 98 i o1t sifis 3 31 aue AR &
o 9ea 78 9Pa iR faery 8t #% @, wife g wmaTfore srafhar @t ue Tt uftear
8 forrds s @t Ter-gaR & faRy, 399, 9191 9T S9agR & wuTiad gid § | faera srdwal
W TR A 9gd Ued gITa & i 31 aR & ufthar & S € @il & srfwal )t uefa
3R I7F Ie AT | 3T HraT SraT g1 fafira TR usfoal & wifve Suaih faery gra=h
TR 98T THE! d% UGATd STd € | S ST $i doll | geed JTHTS & 1Y-T1Y ga1 & fore
STAID 4T T4 3rfofd H & Tgraan frert 81 98 @ &t wurad, faftry v st 3t
TuTEaT § JUR A4 & 1T Tauad=i & 3= & a1 t "eg $edl 31 TP S’ & wu d
fara ®1 ord, wATS & U AR Frraifora ufvad= @ 8 o site wd frafe 1 oo srawur @
T GUHTIYG U4 19 983 e Ugdl STl 81 98 U U vfsar § foras agw sexa i ok
e o1 areE At | ufvad & 9t SE=a a9 & dgar avdl, HIeH, 3194, WA Ta g
%ﬁuwnﬁ&%aﬁmwﬁﬁwmmﬁ$m%§%maﬁm%ﬁmsﬁmqﬁ
ST T g

Society cannot change and develop without /THTS & for 9ea
T8 IPd SR fywT 18 % 9Fd

1. Communication/ a¥meor

2. Development/ A=

3. Research/ e

4, None of these/ S & & T &1

Correct Answer :-

« Communication/ a=mor

2) DIRECTIONS: Read the passage and answer the questions that
follow./ fAcsr: Meferfaa Terier F1 eqT g T T SHH A9 [oF TF qgiamedt 991 § del fasheq
T =TT HL|

Communication plays an important role in the development of a nation. It is
an integral part of development. Societies cannot change and develop
without communication, as it is a process of social interaction through which
people are influenced by ideas, attitudes, knowledge and behavior of each
other. Communication has attained a great importance in the developmental
programs. It is through the process of communication that people are made
aware of the nature and objectives of the programs. The useful
developmental messages are conveyed to the target groups through various
communication approaches. This helps masses in acquiring new knowledge
required for coping with fast changing society. It helps people in adoption of
innovations for the improvement of their practices, methods and quality of
life. Development as an objective is planned transformation of society from
one stage of life and living to well-defined and known goal. It is a process in
which man is the objective as well as the tool of development. All objectives
of transformation are to make man live as a human being, with better
clothing, food, shelter, health and education. This cannot be achieved
without man's involvement./
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HAR MY & Fapra # Ayl YT fAHTaT 31 98 faera &1 te 3ifHe ST 31 AT JaR &
o Sea 8t Id ik fawra T8 o= ad, Fife ag AT srfihar &Y T Ul ufthar
? s wifve T uep-gar & fammRl, 390, 919 au1 FagR | yuTfad gid €1 e erdwat
W HOR A 9gd Wed griva o fan 31 IaR & ufthan & S € @i & srfwal &t upfa
3T I7F I =T | 3 ST SraT 8| fafid Tar usfoal & wifve Suaif faers gwa=h
HU W& HE 9 Ugard 9T &1 SHY ST B ol ¥ Iaed THTS P HIY-A1Y go & g
STaRgS 41 J14 3ifold B34 § Jgradr fiadt 81 ag @ &1 yureh, faftmy va sfaw &t
TUTgT § GUR A1 & T Fauad=l &) 3ra= # @ #t Heg $RaT 81 TP S & U A
fara ®1 ord, wATS & T ¥R Frraifra ufvad= @ 8 forrd sfte wd frafe 1 o erawr @
T GUHTIYG U4 19 983 9 Ugar STl 81 98 T U ufshar § Rras wgw sexa i @ ok
e o1 areF 2t | ufvad & 9t SExa agw & dga avdl, Ui, 94, WA Ta e
& TTY TH A Pt Hifd 357 | &0 9911 & e §1 5% 99w 9t "gayar & fo=n gifva &t

foran =1 & g1
Communication is a process of social interaction through which people are:/
TR, AT Srafhar &) ue ufsrar g forae wifve @ ¥ gHTfaa g 21

1. Influenced by ideas/ ==t
2. Attitudes/ =it
3. Knowledge/ s

4. All of these/ 3w a+ft

Correct Answer :-

 All of these/ 3w a+ft

3) DIRECTIONS: Read the passage and answer the questions that
follow./ fadsr: feaforfad erier i e gds T ST 419 fod T agfasmedt 7871 # ga! fawey
T AT AL

Communication plays an important role in the development of a nation. It is
an integral part of development. Societies cannot change and develop
without communication, as it is a process of social interaction through which
people are influenced by ideas, attitudes, knowledge and behavior of each
other. Communication has attained a great importance in the developmental
programs. It is through the process of communication that people are made
aware of the nature and objectives of the programs. The useful
developmental messages are conveyed to the target groups through various
communication approaches. This helps masses in acquiring new knowledge
required for coping with fast changing society. It helps people in adoption of
innovations for the improvement of their practices, methods and quality of
life. Development as an objective is planned transformation of society from
one stage of life and living to well-defined and known goal. It is a process in
which man is the objective as well as the tool of development. All objectives
of transformation are to make man live as a human being, with better
clothing, food, shelter, health and education. This cannot be achieved
without man's involvement./

HAR 1Y & faera & wgaqul yfirer Frurar 71 a8 faere &1t sifid i1 31 99 AR &
T 3 T8 Iwa iR fawra T8 =% gwd, TP g wmTfore srafthar #t ue =t uftkar
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? s sifve @t tep-ger & fammRl, Y9, 919 au1 FagrR | yuTfad gid €1 faer erdwat
W TR A 9gd Ued gIiva & fan 31 R & ufthar & wifve € @il & srfwal @t uefa
3T I7F I AT | 3 HraT SaT 8| fafira TR usfoay & wifve Suaif faers gwa=h
H e HE 9 USard §Td &1 SHY ST B Aol ¥ Iaerd THTS P HIY-A1Y gom & g
SITARYP T [T 3Ifofd HI1 A Jgrad fiad! 21 ag v &) yurei, faftry v sfaw &t
TUTT § GUR A1 & T Fauad=l &) 3ra= # @ #t Heg HRaT1 81 TP S’ & U A
fara ®1 ord, wATS & U ¥R Frraifora ufvad= @ @ o site wd frafe 1 oo srarr @
T GUHTIYG U4 19 983 9 gl STl 81 98 T U e § Foras agw sexa i § ok
e o1 are 2t | ufvada & 9t SExa a9w & dgar avdl, HISH, 394, WA Ta e
%ﬁ:ﬂ@ﬂj&;&ﬁﬁf@ﬁﬁﬂ&mwﬁ%m%lﬁmaﬁm%mmﬂﬁ
ST gt g

The useful developmental messages are conveyed to the target groups
through various:/ &fs= & ST ITAN Ty avaeeft §a97 A&7 T TF TgaTd ATd &

1. Communication Skill/ 5= Frerett
2. Communication Approach/ s=m ggfagt
3. Communication Media/ s=T< areasi

4. None of these/ =% & %15 721

Correct Answer :-

« Communication Approach/ #=m ugfa=i

4) DIRECTIONS: Read the passage and answer the questions that
follow./ f3sr: Awaforiea Teriser &1 eaMIa® T Iq6 A= fed T Fgiamedt T § qgt faweq
T =TT HL|

Communication plays an important role in the development of a nation. It is
an integral part of development. Societies cannot change and develop
without communication, as it is a process of social interaction through which
people are influenced by ideas, attitudes, knowledge and behavior of each
other. Communication has attained a great importance in the developmental
programs. It is through the process of communication that people are made
aware of the nature and objectives of the programs. The useful
developmental messages are conveyed to the target groups through various
communication approaches. This helps masses in acquiring new knowledge
required for coping with fast changing society. It helps people in adoption of
innovations for the improvement of their practices, methods and quality of
life. Development as an objective is planned transformation of society from
one stage of life and living to well-defined and known goal. It is a process in
which man is the objective as well as the tool of development. All objectives
of transformation are to make man live as a human being, with better
clothing, food, shelter, health and education. This cannot be achieved
without man’'s involvement./

HAR 1Y & faera & wgaqul yfirer fFrurar 71 a5 faera o1t sifid o1 31 99 4R &
fom1 950 7Y W SR faera 181 o~ aq, RS ag wrfore srafshar 9 we T ufean
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? s sifve @it uep-ger & fammRl, 39, 919 au1 FagR | yuTfad gid €1 faer erdwat
W TR A 9gd Ued gIiva & fan 31 R & ufthar & wifve € @il & srfwal @t uefa
3T I7F I£ AT T 3 HraT SraT 8| fafira TR usfoay & wifve Suaif faers gwa=h
HE 8T THE! db UgdTd &ITd &1 SHA ST B Aol A Taerd THTS & JIY-A71Y Tom & fag
STAYYP T [T 3ol H31 A Jgrad faad! 21 ag v &) yureh, faftry va sfaw &t
TUTT § GUR A1 & 1T Fauad=l &Y 3ra= # d & Heg $RaT 81 TP S’ & U |
fara ®1 ord, wATS & U ¥R Frraifora ufvad= @ 8 o site wd frafe 1 o erarr @
T GUHTIYG U4 19 983 % gl STl 81 98 T U e § Roras agw stz i § ok
e o1 areE 2t | ufvad & 9t SExa A= & dgar avdl, HISH, 94, WA Ta e
%ﬁuwﬁga&mwﬁﬁmﬁwﬁ%ﬁm%lﬁmaﬁm%mmﬂﬁ
ST gt g

Communication helps people in adoption of:/ §=9X__ (9™ & &I il H&< HLAT &l
1. Skills/ #terer

2. Methods/ fafert

3. Innovation/ sam=T®

4, None of these/ Sur<s & & 15 71

Correct Answer :-

e Innovation/ Tam=m

5) DIRECTIONS: Read the passage and answer the questions that
follow./ fAcsr: MeAfrfa Terisr &t eaT ga® e I A9 [oF T qgiasmedt T4 § dat faseq
T FAT HL|

Communication plays an important role in the development of a nation. It is
an integral part of development. Societies cannot change and develop
without communication, as it is a process of social interaction through which
people are influenced by ideas, attitudes, knowledge and behavior of each
other. Communication has attained a great importance in the developmental
programs. It is through the process of communication that people are made
aware of the nature and objectives of the programs. The useful
developmental messages are conveyed to the target groups through various
communication approaches. This helps masses in acquiring new knowledge
required for coping with fast changing society. It helps people in adoption of
innovations for the improvement of their practices, methods and quality of
life. Development as an objective is planned transformation of society from
one stage of life and living to well-defined and known goal. It is a process in
which man is the objective as well as the tool of development. All objectives
of transformation are to make man live as a human being, with better
clothing, food, shelter, health and education. This cannot be achieved
without man's involvement./

HOR Y & fIowra & ggayet yfiet frurar 71 98 faer o1t sifis s 31 aue AR &
o 9ea 78 9oa iR faery 78t #% e, wife g wmaTfore srafhar @t v Tt uftear
? s SIfve T uep-ger & fammRl, Y9, 919 991 FagR @ yuTfad gid €1 e erdewal
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T TR A 95d Hed gIfad & fordr 31 TaR & ufthar & Sive gt | 3f Srdsdl 3t uPpfd
3R 3P LA | AT Hera1 oraT | fafisa Tar usfoal & wfve Swaht faery gw=h
HE 8T THE! d USATd SITd &1 SHA ST B Al A Teerd THTS &b JIY-A71Y o & g
ATAIS AT T4 3ffofd H | Tgradn ferdt 81 98 an &t gurad, faftry wa sitaq #it
TuraT | GUR AT & T Fayad=il & 3o-mM & @i & Hag #daT1 81 TP SR & FU |
fara &1 ard, gaTer & v T Fraifora ufvad= @ & forad sftew e frafe Y 0o srawr 9
TS GUHTIIG T 19 967 % Ugar STl 81 9% T O e @ Rraw wgw sexa i @ ek
e &1 Jreq 1 uftads & Tt 3E=a s &) dgar awal, WS, 3™, TRy T4 fRian
;;TQWH&%ﬁmEﬁﬁH&maﬂﬁ%ﬁE?ﬂ%ﬂﬁwﬁm%mmqﬁ
ST T B

Who is the objective in the process of communication?/d=m< # ¥iHaT # Szea #19

g7
1. Man/ a7

2. Animals/ 7gq

3. Aliens/ aTrgt
4. None of the above/ ST & & #IE =1

Correct Answer :-

6) DIRECTIONS: Read the passage and answer the questions that
follow./ fdsr: fwaforfad serier F e @ qea Sa® A1+ o T Fgfaswedt eat # gt fawey
& FIT L

Communication plays an important role in the development of a nation. It is
an integral part of development. Societies cannot change and develop
without communication, as it is a process of social interaction through which
people are influenced by ideas, attitudes, knowledge and behavior of each
other. Communication has attained a great importance in the developmental
programs. It is through the process of communication that people are made
aware of the nature and objectives of the programs. The useful
developmental messages are conveyed to the target groups through various
communication approaches. This helps masses in acquiring new knowledge
required for coping with fast changing society. It helps people in adoption of
innovations for the improvement of their practices, methods and quality of
life. Development as an objective is planned transformation of society from
one stage of life and living to well-defined and known goal. It is a process in
which man is the objective as well as the tool of development. All objectives
of transformation are to make man live as a human being, with better
clothing, food, shelter, health and education. This cannot be achieved
without man's involvement./

HOR Y & faowra & ggayet yfiet frurar 71 98 faer o1t sifi s 3 Iaus 4R &
o 9qa 78 9Fa iR faewry 8 w% awd, wife g wmaTfore srafhar ot ue Tt uftear
? s wifve T uep-gar & fammRl, 330, 919 aur SaerR | yuifad gia 81 faer erdwat
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T TR A 95d Hed gIfad & fordr 31 TaR & ufthar & Sive gt | 3f Srdsdl 3t uPpfd
3R 3P I£RAT | T HRra1 oraT ¢ | ol TR usfoal & wifve Swaft faer gwa=h
HeX 98T FHE! T UEAr o1 € | SHA ST B! dull A dead THTS P AIY-F1Y To & fore
SATIRGP =TT FI 3rfofd w1 H Tgraar fad! 31 a8 @ @t wureh, faRkmy wa st #t
TureT # JUR A & e Tauad=i &) sraam & @ Y "eg T 31 U S’ b =U A
faera &1 ard, TaTe & v T fraiforg ufvad= @ & forad sftaw e frafe Y 0o srawr
T GUHTIIG T 19 987 9% Ugar STl 81 9% T O e @ Rraw wgw sexa i @ 8k
s &1 |ree ot iafvada & 9t SE=a 79w 3 dgaR awdl, Wi, Y™, TRy g4 fRian
muwﬁ&%ﬁmwﬁﬁqwmﬁ%mﬁlﬁﬁwaﬂm%mmqﬁ
ST T B

Communication cannot be achieves through people’s: /@ #/#t & famT

AT g A8l 87 aaT gl
1. Participation/ sgarfiar

2. Help/ s=graar

3. Money/ g

4, Idea/ fa=m®

Correct Answer :-

« Participation/ sgsrfiar

7) DIRECTIONS: Read the passage and answer the questions that
follow./ facsr: fawferfera werter it earqE® Tede Ia+ A= fad 77 sglamedt gei § a3t fasweq
& FAT L

Communication is an essential part of human life. People perceive things in
a different way because of ethnic background differences, attitudes and
beliefs, etc. These differences may affect our ability to communicate with
our counterpart. Therefore, it is necessary to keep our mind open so that we
can reduce the risk of communication breakdown. Men and women are
different as everyone knows that. However, their differences are not just
physiological and anatomical. Recent researches have concluded that there
are remarkable differences between the two genders in the way their brains
process information, language, emotion, cognition etc. Scientists have
discovered the differences in the way men and women carry out mental
functions like judging speed, estimating time, spatial visualization and
positioning, mental calculation. Men and women are strikingly different not
only in these tasks but also in the way their brains process language. This
could account for the reason why there are overwhelmingly more male
mathematicians, pilots, mechanical engineers, race car drivers and space
scientists than females. On the other hand, there are areas in which women
outperform men. Women are naturally endowed with better communication
and verbal abilities. They are also effective than men in some of the tasks
like emotional empathy, establishing human relations, carrying out pre-
planned tasks and creative expressions/
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AT AT ST 6T T SAELAH ST g FRT JATHT THH AT Forrarant, Tt s freamay sfe &
FHTLUT AT T TATM-TAT & F TGA-THAT gl T 7L AU & FATT FLA T GATLT TEAAT T TATIAT
FL GHd | TATT I AGAF g T T TIAT AT GAT TG, qTh g0 GATC ST g1 o6 STITEH Hl TT Tl
X FIS SATAaT g T3 020 X AffeTs oot gra €19 e, S ofwa< hael - i arie-=ar 9
S TRl & BT AqaeaT=i & Aoy A g 5 T o # Afeash g FAATsi T THAr oy ST
% T, AT, HTAATSA Sl AT o1 | Iea@= 1T T=q< BId gl AATART 7 [EUT < ATZATH FIT
AT AT, S T BT FATATT T, THT FHT SATHTT A, TITHH GLAATATHLT, A TOAET
AT, LA % AR | A7a< GIoT gl [T T AGATU 7 Fael S FTAT A, F{odh ST HIEASH GILT HTYT FT
THAT FRT ST & a6 | AT sre=aioes &9 9 (99 §) Afgars f1 gaar § @9 Tivas, 93we,
Frfea SRR, T w1 AT Ta dvafier 97T aga afds g % I a8 F107 81 9T g1 981
AL S, UH 9gd & & § S Afgare el & fie S It g1 AfgaArst § Irfas 9 § aga<
AT TH WiTE® TRIATC BT &1 TS FIAT, SG ATAATHS GHITHIT AT, AT G eqTaa
FLA, [A-AIITT w1 FL T srtsrarfeat AR s sfe & o geut & srfdes wsraet g1

People perceive things in a different way because of:/ ¥ HTLIT AT STt
FT AA-TAT & F @d-THd gl

1. Ethnic background differences/JSITd = g9 T foraarstt
2. Attitudes/za=i

3. Beliefs/ferearsi

4. All of these/3ITa< asft

Correct Answer :-

« All of these/3T4w T+t

8) DIRECTIONS: Read the passage and answer the questions that
follow./ fadsr: fawaferfera werier it earaga® Tehe 39+ A= f2F 17 aglawedt geq1 § a2t fasweq
T T HL|

Communication is an essential part of human life. People perceive things in
a different way because of ethnic background differences, attitudes and
beliefs, etc. These differences may affect our ability to communicate with
our counterpart. Therefore, it is necessary to keep our mind open so that we
can reduce the risk of communication breakdown. Men and women are
different as everyone knows that. However, their differences are not just
physiological and anatomical. Recent researches have concluded that there
are remarkable differences between the two genders in the way their brains
process information, language, emotion, cognition etc. Scientists have
discovered the differences in the way men and women carry out mental
functions like judging speed, estimating time, spatial visualization and
positioning, mental calculation. Men and women are strikingly different not
only in these tasks but also in the way their brains process language. This
could account for the reason why there are overwhelmingly more male
mathematicians, pilots, mechanical engineers, race car drivers and space
scientists than females. On the other hand, there are areas in which women
outperform men. Women are naturally endowed with better communication
and verbal abilities. They are also effective than men in some of the tasks
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like emotional empathy, establishing human relations, carrying out pre-
planned tasks and creative expressions/

AT AT ST T T TALIF ST gl AT TSI g At For=rarst, W@t i fear=t snfe &
LU ATAT T TATM-TAT &1 F I@A-THAT 5| T SI7q< AU & FATT FHIA T GATLT TEAAT T TATIAT
FL Thd g TATAT I MALTF & T TH STTAT AT GAT T, ATTH FH T WM B o6 STTGH T TT Tohl
X HIE AT & 3 2w i AfRemd e gra €19, S99 svax e ar-fraT sk srifi-=ar |
TS TEI 8| FIierAT AqaaTl ¥ Ford fear g 3 a1 R & Aitass gy gEasi w7 WA Y S
% T, WTYT, ATl Sl G o1 H IeA@H 1T T=a< BId gl AATART « [EUT M ATGATH GIT
ATATE HTAT, S AT T STTHTT A, TGHT T STHTT A, TS GEIHATATHLT, HTATH TOAT
AT, LA % AL | Ava< GIoT gl [T T AGATU 7 Fae 57 FTAT A, FTodh ITh HIEATH FILT HIGT FT
THA FRT ST & T | AT sire=ss &9 4 (99 §) AgaArs i gaar § @9 Tioras, 99e,
Frfere SRR, T 1T ITah Ud Aeaier ST aga Afers g1 & 1) T8 FT00 g7 a7 g T8t
AL ST, UH 9gd & & § S Afgary el & 7 S It 5| AfgaArst § Irpias &9 § aga<
9T U W1 TRaard grat 819 FF FIAT, HE ATATcHF GAHTTHT I, AT Feaeel eriaa
FLA, [A-AATSTT FF FLA ST SAtSeAteat R S srfe § o 72ul & feew T et gl

What should be done to reduce the risk of communication breakdown?/ 91X

W3 T S T F ore /=7 et s 9igu?
1. Keep our mind open/ 9T 79 GaAT &
2. Keep our books open/ s+t T&a+ Gt T4

3. Keep our house open/ 9T 3% GdT 76

4. Keep our bags open/ 9+ < g T

Correct Answer :-

« Keep our mind open/ 39T 99 GAT &

9) DIRECTIONS: Read the passage and answer the questions that
follow./ fAdsr: Mt e 1 samEs Teae 3aF A1+ o T sgiawedt weai & g1 fawew
T =TI A

Communication is an essential part of human life. People perceive things in
a different way because of ethnic background differences, attitudes and
beliefs, etc. These differences may affect our ability to communicate with
our counterpart. Therefore, it is necessary to keep our mind open so that we
can reduce the risk of communication breakdown. Men and women are
different as everyone knows that. However, their differences are not just
physiological and anatomical. Recent researches have concluded that there
are remarkable differences between the two genders in the way their brains
process information, language, emotion, cognition etc. Scientists have
discovered the differences in the way men and women carry out mental
functions like judging speed, estimating time, spatial visualization and
positioning, mental calculation. Men and women are strikingly different not
only in these tasks but also in the way their brains process language. This
could account for the reason why there are overwhelmingly more male
mathematicians, pilots, mechanical engineers, race car drivers and space
scientists than females. On the other hand, there are areas in which women
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outperform men. Women are naturally endowed with better communication
and verbal abilities. They are also effective than men in some of the tasks
like emotional empathy, establishing human relations, carrying out pre-
planned tasks and creative expressions/

AT AT ST T Teh TELIF ST gl AT TSI g At Fo=rarst, W@t i faeardt snfe &
T ATAT T TATM-TAT &1 F T@A-THAT 5| T ST U & FATT FIA T GATLT TEAAT T TATCAT
F Thd g TATT I MALTF & T TH STTAT A GAT T, AT FH G AT B o6 STTGH I =TT Tohl
T HTE ST & 3 72w ofiw 7wy srerr g F19f3h, Ik sra Fhaer ari=-fora siiw srfie-mar @
T2 Bl &1 FTierT qEea=t & fAewd A g 5 S o & wiash g gEmmsh &1 ywaor G s
% T, WTYT, AT Sl G S | IeA@H 1T T=q< BId gl AATART « [EUT M ATGATN GIT
AT HTAT, S T T STTHTT A, THT T SATHTT AT, TATHH GEIHTAIDHLT, AT TOET
AT, LA % AL | Awa< @ISl gl [ET T AGATU 7 Fae 57 FTAT A, FTodh ST HIEqTH FILT HIGT FT
THAT FRT ST & T | AT = &9 9 (99 g1 AaArst i qaqr § (@9 T, 973e,
Frfesre SSATRER, T 1T FTah Ua Aeaqier ST aga Afers g1 & 1) T8 FT07 g7 96T gl T8t
AL S, UH 9gd § & § oA Afgary el & fie S It g1 AfgaArst § Irfas &9 § aga<
9T U AT TRaard grat 819 FF FIAT, A ATaTcHH GAHTTHT T, AT qeaee eriia
w1, T@-FAara #1 F3 o srfSrerfeat A w3 anfe & ot geat & stfers wsraermstt €)

There are remarkable differences between the two genders in the way of
their:/ T=T R0 /% & i ITEHIT A=A B &

1. Language/ «\mur
2. Emotion/ \ra=Tsi
3. Cognition/ g=T+

4. All of these/ ST T+t

Correct Answer :-

« All of these/ 3T T+t

10) DIRECTIONS: Read the passage and answer the questions that
follow./ fadsr: fFaforfaT Terier it eads Tede Iqa A1 (&4 79 aghasmedt 941 # aat faweq
T FIT HL|

Communication is an essential part of human life. People perceive things in
a different way because of ethnic background differences, attitudes and
beliefs, etc. These differences may affect our ability to communicate with
our counterpart. Therefore, it is necessary to keep our mind open so that we
can reduce the risk of communication breakdown. Men and women are
different as everyone knows that. However, their differences are not just
physiological and anatomical. Recent researches have concluded that there
are remarkable differences between the two genders in the way their brains
process information, language, emotion, cognition etc. Scientists have
discovered the differences in the way men and women carry out mental
functions like judging speed, estimating time, spatial visualization and
positioning, mental calculation. Men and women are strikingly different not
only in these tasks but also in the way their brains process language. This
could account for the reason why there are overwhelmingly more male
mathematicians, pilots, mechanical engineers, race car drivers and space
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scientists than females. On the other hand, there are areas in which women
outperform men. Women are naturally endowed with better communication
and verbal abilities. They are also effective than men in some of the tasks
like emotional empathy, establishing human relations, carrying out pre-
planned tasks and creative expressions/

AT AT SHAT HT TH AaLTH 3T g1 AT T 1 T it FHraarsit, @i i freamat snfe &
LT HVSAT T TAT-STAT T 8 S@A-GHAT g1 T A=A TAU & AT FIA T AT TEIAT HT THTAT
FL GHd §| TATT I AT g ToF T AT AT GAT TG, qTh g7 AT ST I o6 STTTGH FHT T€T Tl
L FIE AT § T TIT 3T AIGATT AT ZId g IAThe, I A=q< el AL-T3AT i -1 °
L Bl &1 BT Aqaee=i & Aead A § 5 T o & Aieash g gEETsi 7 THar Ry S
& T, AT, ATATS i T offe | Iea@= 17 3=a< BId gl AT 7 [TUT < ARZATH gET
AT FTAT, S TIA HT ATATT T, THT FT ATHTT AT, TITHS GLARTAIHLT, AT TOET
AT, FLA % TLH | A7aC G g1 T2 ST ATGATU 7 FaA 59 FTAT A, T(oh I AEqSH GILT SATAT T
TR FoRT ST & qh & T sme=ises &9 9 e §) afgarst f g 8 geu afvas, 9mawe,
Frfee SSATER, T F1 9T9% Ta Avaier SATT 9gd SATer giv & iy I8 T g 9T g1 i
TA AT, VA 9gd A &7 § o Afgard wut w fg gre 301 €)1 7« § yrpfad s 4 Jga%
9T U HITEa TRAATU gl &1 FF HIAT, FE ATAATCHE GHTTHIT I, AT FFeel ST a
w4, TA-FAaora w1 w3 si srfSrerteat Al s arfe & oft geat & srfars sty g

Who have discovered that there is a difference between male and female?/

foraer @ & o et s wfgerst # sreax /g 82
1. People/ &t

2. Teachers/ fara=

3. Scientists/ aAT=®

4. Government/ IR

Correct Answer :-

« Scientists/ asT=®

11) DIRECTIONS: Read the passage and answer the questions that
follow./ facsr: fawferfera werter it eamga® Tehe a9+ A= a3 73 sglamedt gei § a5t fasweq
& FAT L

Communication is an essential part of human life. People perceive things in
a different way because of ethnic background differences, attitudes and
beliefs, etc. These differences may affect our ability to communicate with
our counterpart. Therefore, it is necessary to keep our mind open so that we
can reduce the risk of communication breakdown. Men and women are
different as everyone knows that. However, their differences are not just
physiological and anatomical. Recent researches have concluded that there
are remarkable differences between the two genders in the way their brains
process information, language, emotion, cognition etc. Scientists have
discovered the differences in the way men and women carry out mental
functions like judging speed, estimating time, spatial visualization and
positioning, mental calculation. Men and women are strikingly different not
only in these tasks but also in the way their brains process language. This
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could account for the reason why there are overwhelmingly more male
mathematicians, pilots, mechanical engineers, race car drivers and space
scientists than females. On the other hand, there are areas in which women
outperform men. Women are naturally endowed with better communication
and verbal abilities. They are also effective than men in some of the tasks
like emotional empathy, establishing human relations, carrying out pre-
planned tasks and creative expressions/

AT AT SA T TH AGLTH 3T g1 AT o 1 T it Firaarstt, @i s freamat snf &
LT HVSA1 T TAT-STAT T 8 S@A-THAT g1 T A=A TAU & AT FLA T AT TEIAT HT THTAT
FT GFA §| TATAT TG AAAF & ToF T AT AT GAT TG, qTh g7 AT ST I o SATTGH HT TT Tl
L &S AT § T3 TIT 3T AIGATT AT ZId g I1AThe, I A=q< el ALL-T03T i -1 o
T2 Bl &1 BT AqaeaT=i & Aead A g 5 T i & 7ieash g gEmmsi 1 & R s
& qteh, WTHT, ATAATA 3 €A ofife § SeA@= T Ava< gId gl AATIHT ¥ &1 < FfgaAvst grer
AT FTAT, S T HT FATATT T, THT FT ATHTT AT, TITHH GLARTHIHLT, FTAH TOET
AT, FIA F TLH | SAwaC @I 5| TIT ST ATGATU T A 39 H1A1 H, Tl ITh ACqSH GILT ATAT 6T
THAT FoRT ST & q | T sme=dseT w9 9 e 81 afgenst f g 8 gew afvas, 9rawe,
Frfee SRR, T F1 9T9s Ta dvaier 31T agad SAier® g & e I8 HTL0 g1 9haT g1 aai
TA AT, VA 9gT F & § R Afgerd wut w f gre 3101 §) 7w § yrptad w9 Iga}
9T U W1 TRAATU gl &1 FF HIAT, FE ATAATCHE GHTTHIT I, AT Feaeel TToa
w4, T-FAaora w1 w3 si srfSrerteat i s arfe & oft geat & srfars sty g

Women are naturally endowed with better communication and /
AT & MHAF ST T IGaLEARTE ___ graT &l
1. Verbal ability/ ®ifere Tgard

2. Cooking ability/ &THT T&T= it TvaaTy
3. Dancing ability/ T TF=arg
4. None of these/ 393 | & &I Aal

Correct Answer :-

« Verbal ability/ ®tfee Tgarg

12) DIRECTIONS: Read the passage and answer the questions that
follow./ facsr: fawaferfera werter it eamqE® Tedhe Ia+ A= fad 73 sglamedt geqi § a5t fasweq
& =TT L

Communication is an essential part of human life. People perceive things in
a different way because of ethnic background differences, attitudes and
beliefs, etc. These differences may affect our ability to communicate with
our counterpart. Therefore, it is necessary to keep our mind open so that we
can reduce the risk of communication breakdown. Men and women are
different as everyone knows that. However, their differences are not just
physiological and anatomical. Recent researches have concluded that there
are remarkable differences between the two genders in the way their brains
process information, language, emotion, cognition etc. Scientists have
discovered the differences in the way men and women carry out mental
functions like judging speed, estimating time, spatial visualization and
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positioning, mental calculation. Men and women are strikingly different not
only in these tasks but also in the way their brains process language. This
could account for the reason why there are overwhelmingly more male
mathematicians, pilots, mechanical engineers, race car drivers and space
scientists than females. On the other hand, there are areas in which women
outperform men. Women are naturally endowed with better communication
and verbal abilities. They are also effective than men in some of the tasks
like emotional empathy, establishing human relations, carrying out pre-
planned tasks and creative expressions/

AT AT ST FT T AGLAH ST g1 FRT JATHT THSH AT Foeraredt, Taw s freamay sfe &
LT HVSA1 T TAT-STAT T S@A-THAT g1 T A=< TAU & AT FLA T AT TEIAT HT THATAT
FT GFd §| TATT TG AAAF & ToF T AT AT GAT TG, qTh g7 AT ST I o STTTGH HT T€T Tl
L FIS AT § T3 TIT 3T ATGATT AT ZId 1A, I A=q< el ALL-T03T ST -1 o
L Bl &1 BT AqaeaT=i & fAerd A g 5 T o & 7ieash g gEmTsh &1 Y%A R s
& T, WTHT, ATaATA 3§ e § SeA@H 1T Ava< gId gl AATIHT F &I < FfFaATsti ger
AT FTAT, S T HT FATATT T, THT FT ATHTT AT, TATHS GLARTHIHLT, T TOET
AT, FLA & TLH | AwaC @I 5| TIT AT ATGATU T Fa 39 H1A1 A, Tiodh ITh AEqSH GILT ATAT 6T
TR FoRT ST & q | T sme=isms w9 9 e §) afgenst f g 8 ww afvas, 9mawe,
Frfee SRR, T w1 9T9s Ta dvafier SATHT aga STiers giv & e I8 FHTL0 g1 9haT gl aai
AL AT, VA 9ga § & 8 oA Afgard et w1 i e It 51 Afgarst § yrFpfas &9 § aga<
9 U AT TRIAAry gral 819 FF HIAT, FE ATAATHF GHITHIT I, AT Geaeel e1aa
w4, T-FAaora w1 w3 si srfSrerfreat i s arfe & oft geat & srfars sty )

Women are effective than men in the task of:/ % 1A | AIEATT TEOT |
FTew TATILATAT &

1. Establishing human relations/ AT T¥aeer T FLA

2. Carrying out pre-planned tasks/ Ta-FaitSra w1 w3
3. Creative expressions/ stf¥=afxrat Afda w2
4. All of these/ ST T+t

Correct Answer :-

« All of these/ ST asft

Topic:- Grad_Child Care and Education

1) Genetic Diseases is related to?/ 3aif¥® Mt frad Tafia 82
1. Hemophilia/ feifteTer
2. Hypertension/ HECEGR ]

3. Fibrosis/ WISSIRIY
4. None of these/ :mﬁaaﬁ@faﬂéqé’f

Correct Answer :-

« Hemophilia/ et Ter
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2) AIDS is related to:/ TS¥ frax Hafta giar 82

1. Bacteria/ SidT0]
2. Disease/ SHRY

3. Genetic Disease/ Al I
4. None of these/ IWRIad U I &g -1g!

Correct Answer :-

- Disease/ §IARY

3) Gifted Children have IQ / wfayTarE ST 3 g afs
1.120 1Q/ 120 8.8,

2.1251Q/ 125 3E.F],

3.130 IQ/ 130 3ME.F

4.140 1Q/ 140 3ME.H

Correct Answer :-

. 140 IQ/ 140 3ME.&

4) Full form of WHO is:/ WHO &1 3T H:
1. World health organization/ fd%a W= 6=
2. Wide health organization/ fa%&]d TWTRY 13
3. Whole health organization/ J¥Ul WA T3

4. All of the above / SWRIad g+t

Correct Answer :-
« World health organization/ fa%d W= ¥4

5) What is the Kinder Garten Teaching material?/ Wnﬁqwﬁrﬁﬁr&m
It 1 ot 82

1. Gift/ 3UgR

2. Mother Play/ II'IH@FI

3. Song/ i

4. All of the above / IuRlad gt
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Correct Answer :-

o All of the above / IWRIFd gt

6) What is the Characteristic of Creativity?/ Go-Ta®dT ®! faRivame &= f 32
1. Process/ ufehar

2. Goal Directed/ deg AR

3. Create/ oI
4. All of the above/ IWRIad gt

Correct Answer :-

o All of the above/ IWIad gt

7) Hyperactivity & Disorder of attention is Characteristics of which special

children?/ sifafsrar=itaar aur sraur= & srd-arwdarn &y fafkre aTae # faxivar 82
1. Learning Disabled/ 3ferm fR

2. Backward Child/ fU&d dreie

3. Gifted Child/ UfdHTIT STl

4. Delinquents/ aTd 3ORTE

Correct Answer :-

« Learning Disabled/ 3fr fART

8) Who gave Insight Theory?/ Wﬁﬁl@*‘dmﬁﬁtﬂ Yr?
1. Kohler/ ®IgeR

2. Lewin/ NIGE

3. Hurlock/ gXal®

4. Skinner/ PR

Correct Answer :-

. Kohler/ ®IgR

9) Important factor for blood clothing in new born baby is/ Hﬂ\‘rl‘l‘dﬁlgﬁ'ﬁﬂ
S+ & o) Y= o 39 491 /2

1. Vitamin A/ faeI#a A
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2. Protein/ UIdH
3. Vitamin K/ faeifiq K
4. Energy/ eS|

Correct Answer :-

. Vitamin K/ [deIfF K

10) What is the means of language development/ HTUT @A & I8 A I 8

2
1. Imitation/ 3{JHRUI
2. Play/ B

3. Listening stories/ W‘Fﬁ?fFIT
4. All of the above/ JURI GHt

Correct Answer :-

« All of the above/ SWRIad Tt

11) Child having abnormal qualities are called:/ 3{HTHT UT ATl dTcid T
HEaTdT 82

1. Exceptional children/ fafRme ara®
2. Abnormal Children/ 3{THIY dlddh
3. Normal Children/ |THTY dicidh

4. None of these/ JWRIGI & ¥ &5 ol

Correct Answer :-

« Exceptional children/ faf2re sreisd

12) is the modification of behavior through experience and

training/ 344 T4 UfRIevr & gRT AaeR # uf¥ad< g1 & $Ed -
1. Learning/ TRGT
2. Cognition/ IJMTH®

3. Creativity/ Jol-IHP
4. Mental/ AFRIS

Correct Answer :-
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« Learning/ ST

13) What is the effecting factor of socialization? /HTHTSII®GRUI § 914 dd HIF A

?
1. Behavior of parents/ AT fUdr sudgR

2. Insecure/ 3YR&T

3. Discipline/ 3JRIMA
4. All of the above/ SWRiad Tt

Correct Answer :-

o All of the above/ IWRIgd gt

14) Development is effected by/ fa®Td frad yIfad gla1 82
1. Parents/3fHHTa®

2. Society/dHNS

3. Heredity/dRITIshH
4. Heredity & Environment/d=IeH 3R aTdTaRul

Correct Answer :-

« Heredity & Environment/d&zllj,qw-l 3R 9TdTaRl

15) Germinal period is related to/ SSawT fHy srawyT | afta 82
1. Period of ovum/ forg sarn

2. Period of embryo/ fUUE 3@

3. Period of fetus/ THTY Y] srawut

4. All of the above / IURIad g

Correct Answer :-

. Period of ovum/ 8/ 3fa=n

16) CANCELLED
What is the effect of Heredity?/ G=ITIHH &1 UHTT DI T 8?2
1. Physical qualities/ QRN c&for
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2. Social status/ IR TR

3. Character/ IiRA
4. All of the above / IWRIgd It

Correct Answer :-

. Physical qualities/ QR T&for

17) Control of under weight children is aim of which scheme?/ Ul W {0l
e g @1 3= 82

1. Janani Suraksha Yojana/ Sl IR&T ATSHT
2. Gramin Health Yojana/ ITHOT W= il
3. Bal Sakti Yojana/ CINRICSEISE

4. All of the above / SURIa I+

Correct Answer :-

. Bal Sakti Yojana/ ST Sifad arei-T

18) Psycho Drama used for Treatment of /HT-ﬁ&rf\‘l-mﬂﬁlm'lT
RTY & ford fomar Sirar &-

1. Delinquency/ 9T 3URTY
2. Abnormal Children/ 3THTY dlddh
3. Problem Children/ JH™THD dlcidh

4. Mentally Retarded Children/ W@@W

Correct Answer :-

« Delinquency/ dTcl 3URTY

19) What is the basic concept of child development?/ amﬁwm%sqﬁlgr
HITY DI A 32

1. Characteristics of development/ f[d&r &t fa—odmd

2. Difference between growth and development/ ﬁwqﬁq@ﬁaﬁn
3. Principles of development/ faera & g

4. All of the above / IWRIgd gt

Correct Answer :-
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- All of the above / SWRIed TH

20) Colostrums is related to?/ aﬁﬁgﬂmﬁwﬁm%v
1. Mother Milk/ HIdT T ¥

2. Tin Milk/ f&saT &Y gy

3. Artificial Milk/ S0 gy

4. None of these/ SR H I ob\léﬂff

Correct Answer :-
« Mother Milk/ ATl &1 ¥

21) By whom study of cognitive development started?/ JJFTH® faHT &1
g fead gRT Uy fosar mar?

1. Jean Piaget/ S oSt

2. Freud/ IS

3. Kohlbery/ ®leai

4. All of the above / IWRIdd Tt

Correct Answer :-

« Jean Piaget/ S fUams!

22) CANCELLED

When did Pulse Polio Programme Started? / U Tiferdl Sifiam= &t =M &9 3t

Tg?

1. 2 October 1999/ 2 3fagaR 1999

2. 10 November 1980/ 10 Hd%R 1980
3.3 January 1998/ 3 S-axl 1998

4.10 April 1997/ 10 3{Ud 1997

Correct Answer :-

« 2 October 1999/ 2 3{dgsR 1999

23) Among these which are leg Skills?/ Eﬁﬁﬁ?ﬁﬁ%ﬁwﬁ?
1. Running/ areT
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2. Climbing/ el g&-T

3. Jumping/ ®a-T
4. All of the above/ IWRiad gt

Correct Answer :-

o All of the above/ IWRIgd gt

24) Which is the factor affecting process of learning?/ STa® & Y@< &1 uferar &1
YHTFIT HA aTdl a7 PIF H 872-

1. Motivation/ RN
2. Reward/ QRIOR
3. Praise/ URET

4. All of the above / IWRIad g+t

Correct Answer :-

« All of the above / JuRidd Hl

25) CANCELLED

When Janani Suraksha Yojna Started?/ S qR&m YIS S URY Bt 11%?
1.2011 Year/ 2011 @§

2. 2012 Year/ 2012 94

3.2014 Year/ 2014 99

4.2016 Year/ 2016 9%

Correct Answer :-

« 2011 Year/ 2011 9%

26) Which is the Special Technique for Blind Children education?/ 3i% STa®! &1
fera w3 8q falkre ot s a1 32

1. Sign Language/ f%FE:'

2. Brale Lipi/ sidf feifg

3. Touch Method/ =i fafd

4. None of these/ SWRIad H I &g -1g!

Correct Answer :-
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« Brale Lipi/ 5@ foifg

27) Problem Child is / U1 9TAS &

1. Who steals/ IRY HI Tl
2. Who is lire/ g3 e aral
3. Who disobey parents/ HTdl fUdl &1 &g-1 = |

4. All of the above/ IWIFd gt

Correct Answer :-

« All of the above/ SURIad Tt

28) Who is the Founder of pre-School Education?/ Jd 2 f1&m & S=1erar o4
8?2

1. Mother Teresa/ AaR ¢XdT

2. MC Millian Sister/ A& A 984
3. Gandhiji/ e STt

4. Bandura/ S

Correct Answer :-

« MC Millian Sister/ A& e S84

29) What is the meaning of NEONATE?/ Sa9iTd &1 Xfeca 1< o1 giat 82
1. New/ =41

2. Child/ =T

3. Beautiful/ X

4. Face/ 9

Correct Answer :-

e« New/ ddl

30) CANCELLED
Age of Neonate is?/ AauTd R & 3y fa=it gidt 82
1. 10 Days/ 10 f&=

2. 20 Days/ 20 faA
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3. 35 Days/ 35 feq

4. 45 Days/ 45 faA

Correct Answer :-

« 10 Days/ 10 faa

31) Special educator & School are for Children/ faRiy Ryarfag aur wpa
D! & ford 8

1. Normal Children/ ITHIY dldddh
2. Exceptional Children/ fafRme sTa®

3. School Children/ ¥ d dlcd

4. None of these/ SRiad H§ A dﬁ{Tﬁ

Correct Answer :-

« Exceptional Children/ fafRme drae

32) Personality related to/ Sfckicd Jafiud gidT &-
1. Physical/ IRIRD

2. Motor/ fshaTee

3. Persona/ TREMI

4. Emotion/ Tafl

Correct Answer :-

. Persona/ G
33) CANCELLED

Where is Chetnha Center School for special Education is Situated?/ EGRIK &
faremer TfYe fawaiT arae! 3t fRiem g el fRud 82

1. Delhi/ feeet
2. Bhopal/ Hiard

3. Lucknow/ TRd13

4. Bombay/ Hﬁrsc

Correct Answer :-

e Lucknow/ dd13H
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34) During Pregnancy Placenta development take place in which week?/

Tyie & wrdeer o1 el o9 ¥ aw@e § yRY gar 82
1. 6 Week/ 6 9Ule

2. 8 Week/ 8 9t dlg

3. 10 Week/ 10 dtile

4. 12 Week/ 12 qtlg

Correct Answer :-

« 6 Week/ 6 dtdle

35) Craft education be given to/ garereq @t fRuem & st arfee-
1. Common child/ JTHTI STAD Bl

2. Backward child/ fU®S sTeie @l

3. Retarded Child/ T §fg STc% &1

4. Gifted Child/ TR gfg aTd® Hi

Correct Answer :-

« Backward child/ 0SS STd® &I

36) Self-feeding, Self Dressing are Skills of / &Y QT WY HUS
g &1 PIA 8-

1. Leg Skills/ TR & HIA
2. Hand Skills/ g% S

3. Other Skills/ 3/ HIA

4. All of the above/ IURIad g

Correct Answer :-
« Hand Skills/ 8% P

37) Early childhood child learn through / URTY® IreaTay § a1
MFEar g

1. Imitation/ 3HXUT
2. Insight/ g
3. Conditioning/ F&Y-UTddH
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4. Motives/ b

Correct Answer :-

« Insight/ <&

38) What is the scope of child development?/ aTd fd®Tg &1 favg &3 141

22
1. Study of Theories of child development/ STd fa&TH & Rigidl &1 &g

2. Study of various Aspects of child development/ Wﬁﬂ%ﬁm:{q@ﬂaﬁﬁ
g

3. Study of factor influencing child development/ STd fa& T &1 UHTfdd &4 ardl dd
4. All of the above / SWRIad i

Correct Answer :-

« All of the above / IRIad gt

39) Retarded child learn / WG TS & Hiaar 3-
1. Slow/ faca &

2. Quickly/ dsit &

3. Logical/ GIEEY

4. All of the above/ SWRId ¥t

Correct Answer :-

« Slow/ faa= @

40) CANCELLED

What is the Period of Infancy?/ Wﬁﬁﬂ{{ﬁ &Hﬁm@?ﬁﬁ'ﬂ’
1. Birth - 2 Week/ S+ ¥ 2 98

2. Birth — 6 Week/ S ¥ 6 9uiig

3. Birth - 5 Week/ S ¥ 5 9tdig

4. Birth - 8 Week/ S ¥ 8 g

Correct Answer :-

« Birth - 2 Week/ S ¥ 2 Itdrg
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41) What is the characteristic of development?/ ﬁa?maﬁﬁﬂwrﬁaﬁqwﬁ
a2

1. Directional/ f¢eTH®

2. Progressive series of change/ WTfaRiTel §al
3. Orderly/ hHd&

4. All of the above / SWRIad g4I

Correct Answer :-

. All of the above / IWRIad gt

42) Is DWCRA Programme at national level for special children & Women

care? TIT DWCRA fafiree arae! vd afgansii @1 S@uTd 3q IS TR &1 TS 872
1. Right/ I8!

2. Wrong/ TTad

3. Partially Right/ 31fRi% I

4. Partially Wrong/ 3% 3@

Correct Answer :-

« Right/ I8!

43) Approximate Bones of Neonate?/ Addlld ﬁl“{[ﬁﬁ'ﬂ‘l—mﬁﬁﬁﬂ Eﬁlﬁﬁ?ﬁ %?
1. 206
2.270
3. 350
4. 205

Correct Answer :-
« 270

44) Gross movement and fine motor skills related to/ WWHW q&H
foparere Piva frad gefya 82

1. Motor Development/ ERIRCRCEARS

2. Physical Development/ RRIR® fadbr
3. Social Development/ qrATford faerg
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4, Emotional Development/ HaiH® [dHTd

Correct Answer :-

« Motor Development/ ER R LR

45) Necessary factor for cognitive development/ mﬁﬁm %ﬁ STARY D dod
DI AT 52

1. Sentiment/ TdcH
2. Meditation/ f=ia=
3. Imagination/ &yl

4. All of the above / IWRIgd gt

Correct Answer :-

o All of the above / IWRIgd g+t
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